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PHYSICS - XII, 2024 (A)

Time : 3 Hour 15 Minutes]

[Full Marks : 70

Instructions to the candidates : See Previous Paper

SECTION - A (OBJECTIVE TYPE QUESTIONS)

10.

11.

12.

13.

Questions Nos. 1 to 70 have four options, out of which

only one is correct. You have to mark your selected

option, on the OMR-Sheet. Answer any 35 questions.
35 x1=35

In AC circuit, power is lost in only :

(A) resistance (B) inductance

(C) capacitance (D) all of these

An alternating electric current is represented by equation

I =0.6 is 100 mt. The frequency of alternating current is :

(A)50 m (B)50 (©)100 r (D) 100
Current used in electroplating is :
(A)DC (B)AC

(C) both DC and AC (D) None of these

A large virtual image of object is formed by :

(A) concave mirror (B) convex mirror

(C) plane mirror (D) concave lens

Power of two lenses kept in contact, are P; and P,. The
power of equivalent lens will be :

A &)
(A) ?2 (B) 71 (C)P,xP, (D)P,+P,
The wavelength of which colour is minimum ?
(A) Violet (B) Yellow (C) Blue (D)Red
Which causes the formation of rainbow ?
(A) Diffraction (B) Scattering
(C) Refraction (D) Dispersion
Unit of linear charge density is :
(A) Coulomb/metre (B) coulomb x metre

(C) metre/coulomb (D) none of these

The dimensional formula of intensity of electric field is :
(A) [MLT?2A™ (B) [MLT3A™!

(C) [MLT3A] (D) [ML’T3A-1]

Number of electrons present in 8 coulomb negative charge
is:

(A)5 x 10" (B) 2.5 x 10"

(C) 12.8 x 10" (D) 1.6 x 10"

Two equal and opposite charge of 5 coulomb are kept
mutually at a distance of 5.0 cm. The electric dipole
moment of the system is :

(A) 5 x 107 coulomb-metre (B) 25 x 1072 coulomb-metre

(C) 1 coulomb-metre (D) zero

On moving from the surface of a charged metallic sphereto
the centre of the sphere, the electric field.

(A) decreases (B) increases

(C) remains same as at the surface

(D) zero at all places

n electric dipoles are situated in a closed surface. Total
electric flux coming out from closed will be :

(A) gle, (B) 2g/e, () ngle, (D) Zero

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

28.

29.

In broad-side on position, the electric potential due to
electric dipole is :

I p I p
N e ®) ney 12
(C) zero (D) infinite

If in a logic gate output (Y) is obtained by the product of
its both inputs (A.B), then the gate is :

(A) AND (B)OR (C) NOR (D)NOT

The width of forbidden energy gap in the semiconductor is
approximately :

(A) 1eV (B)10eV  (C) 100 eV (D) 0.01 eV

The equivalent number of decimal number 27 into binary
number system will be :

(A) (10011), (B)(10111), (C) (11001), (D)(11011),

In full wave rectifier, if input frequency is 50 Hz, then output
frequency will be :

(A)25Hz  (B)SO0Hz (C)100 Hz (D)200 Hz

The device which works of both modulation and
demodulation is called :

(A) Laser (B)Radar  (C) Modem (D)Fax
Distance of communication satellite from the surface of the
earth is :

(A) 36000 km (B) 36000 mile

(C) 3600 km (D) 36000 metre
Attenuation is measured in :
(A) ohm (B) decibel (C) mho (D) siemen

What is produced by induction coil ?
(A) High current (B) High voltage
(C) Low current (D) Low voltage

The energy density of magnetic field E is :

A B> B B? c B B
®) 2u ®) Ho © 4o 3po
What value of alternating current is measured by hot wire
ammetre ?

(A) High value

(B) Average value

(C) Root mean square value

(D) None of these

2
D)

N
If magnetic field B is perpendicular to surface area vector

d ? then the magnetic flux on ds area will be :

(A) Bdscos® (B) Bdssin 6 (C) Bdstan 6 (D) zero
Unit of reactance is :

(A) ohm (B) tesla (C) henry (D) farad
Mean value of alternating current in a full cycle is :

1
B) 5

If the phase difference between alternating current and
e.m.f. is ¢ then the value of power factor is :

(A) cos ¢ (B) cos’ (0] (C) sin F (D) tan ¢

An electron is accelerated to 5 volt potential difference.
The energy gained by the electron will be :

(A)5 joule (B)S5eV (C)5 erg (D)5 watt

A1 (C) 21 (D) zero



30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

TARGET QUESTION BANK

The relation between electric field (E) and electric

potential (V) is :
A% dr
E=-| = E=-| —
-
(D) E=[

©) E=[

dr av

The electrostatics energy of the system made by two
electric dipoles kept at a distance ‘7’ is proportional to :
(A) (B) r3

©) (D) none of these

Picofarad is the unit of :

(A) electric charge (B) intensity of electric field
(C) electric capacity (D) electric flux

Capacity of any condenser does not depend upon :

(A) shape of plates (B) size of plates

(C) charges on plates (D) distance between plates
The capacity of a spherical conductor is 1.0 pF. Its radius
will be

(A) 1.11 metre(B) 10 metre (C) 9 km (D) 1.11 cm
The dielectric constant of a metal is :

(A)-1 (B)0O O1 (D) infinity
Which of the following is blocked by a capacitor ?

(A)AC (B) DC

(C) Both AC and DC (D) Neither AC nor DC
Two bulbs of 40 W and 60 W are connected to 220 V
source. The ratio of their resistances will be :
(A)4:3 (B)3:4 ©2:3 (D)3:2
The resistance of any wire is 500 €. its electrical
conductivity will be :
(A) 0.002 ohm™ (B) 0.02 ohm™
(C) 50 ohm™ (B) 500 ohm™
n equal resistor are first connected in series and then in
parallel. The ratio of maximum and minimum resistances
will be :
! 2
(B)n © = (D n
To increases the sensitivity of a potentiometre :
(A) the cross-section area of its wire will have to be
increased
(B) current in its wire will have to be decreased
(C) current in its wire will have to be increased
(D) length of its wire have to be increased
Kirchhoff’s second laws of electricity is related to :
(A) conservation of mass
(B) conservation of charge
(C) conservation of energy
(D) conservation of momentum
Which one of the following is not a unit of magnetic field ?
(A) tesla (B) weber/metre?
(C) newton/ampere-metre (D) newton/ampere2
Photocell is based on :
(A) chemical effect of current
(B) photo-electric effect
(C) magnetic effect of current
(D) electro-magnetic induction
Cathode rays are group of :
(A) electrons (B) protons

1
) -

(C) neutrons (D) atoms

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

Half-life of radioactive substance is :

log102 0.6931 Average age
(A) 0.6931 x A (B) y (©) " 0.6931
S.I. unit of decay constant is :
(A) metre (B) hertz
(C) per metre (D) metre”
Number of neutrons in an atoms of 90Th230 is :
(A) 320 (B) 230 (C) 140 (D)90

P-N junction diode is used as :

(A) an amplifier (B) an oscillator

(C) a modulator (D) a rectifier

Instrument used to increases input voltage/current is
called :

(A) oscillator (B) amplifier

(C) diode (D) rectifier

A magnet is situated near a closed conductor. Current can
be produced in the conductor, if :

(A) only magnet is in motion

(B) only conductor is in motion

(C) both magnet and conductor are in motion

(D) there is relative motion between magnet and conductor
The value of current obtained in a moving coil
galvanometre is proportional to :

(A) deflecting (6) (B) resistance (R)

(C) magnetic field (B) (D) none of these

A galvanometre is converted into ammetre by adding :
(A) low resistance in parallel

(B) high resistance in series

(C) low resistance in series

(D) high resistance in parallel

The magnetic field produced at the centre of current
carrying circular coil is :

(A) on the plane of coil

(B) perpendicular to the plane of coil

(C) at 45° to the plane of coil

(D) at 180° to the plane of coil

On dividing any magnet of magnetic moment (M) parallel
to its length into n equal pieces, the moment of each pieces
will be :

M M M
(A) o (B) 2 © W
Which of the following shows hysteresis ?
(A) Paramagnetic materials (B) Ferromagnetic materials
(C) Diamagnetic materials (D) None of these

The value of magnetic potential at a distance r from a pole
strength m is :

(D) M x n

Hom
4t r
Image formed in compound microscope is :

(A) real and erect (B) real and inverted

(C) virtual and inverted (D) virtual and erect

Image of any object formed at the retina of human eye is :
(A) real and inverted (B) real and erect

(C) virtual and erect (D) virtual and inverted
Convex lens is used in :
(A) short-sightedness

(C) presbyopia

() B) oz (O 425 (D)zero

(B) long-sightendness
(D) astigmatism



60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.
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The colour of sky is blue due to :

(A) Interference (B) Scattering

(C) Refraction (D) Dispersion

The fringe width in interference of light due to two
coherent sources is :

(A) proportional to wavelength

(B) inversely proportional to wavelength

(C) proportional to square of wavelength

(D) inversely proportional to square of wavelength

Two sources of monochromatic light is coherent, when
their :

(A) intensities are equal
(C) phase are equal
de-Broglie wavelength is :

(B) amplitudes are equal
(D) none of these

I11C2

(A) A = hmy (C) A=

h
(B) 7»=; (D) h = hv

The value of is (y, e

(A)3 x 10® cm/second (B) 3x 10'° cm/second

(C) 3 x 10° cm/second (D)3 x 10® cm/second

An electron of charge ¢ moves parallel to uniform lines of
force in magnetic field B with velocity v. Force acting on
electron is :

(A) evB (B) ev/iB (C) zero (D) Bv/e

The nature of electron beams moving with uniform velocity
in the same direction will be :

(A) converging (B) diverging

(C) parallel (D) none of theses

N
The value of torque (T) experienced by current loop of

- -
magnetic moment (m) placed in magnetic field (B) is :

- 5 o NN
(A) t=m xB B)7_3 xm
- -

- m - B
©) T=5 D) =35
B m

S.I. unit of self-induction is :

(A) coulomb (C) (B) Volt (V)
(C) ohm (Q2) (D) henry (H)
On oscillating any metallic sphere in the magnetic field, its

oscillatory motion is :

(A) Accelerated (B) Damping
(C) Uniform (D) None of these
The working principle of dynamo is based on :

(A) heating effect of current
(B) electromagnetic induction
(C) induced magnetism

(D) induced current

SECTION - B (NON-OBJECTIVE TYPE QUESTIONS)

Question Nos. 1 to 20 are Short Answer Type. Answer
any 10 questions. Each question carries 2 marks :
10 x 2 = 20)

. What is critical angle ? Write down its necessary

conditions.

10" electrons are placed on an uncharged body. Calculate
the charge produced on the body.

Mention the difference between p-type and n-type
semiconductors.

Write down two uses of shunt.

ol

10.
11.
12.
13.
14.
15.

16.
17.

18.

19.

20.

21.

22,

23.

24.

25.

26.

2024 (A) 3

Convert binary number (1101), into decimal system.
Explain www and Fax.

What is walttless current ?

What is light-emitting diode (LED) ? Write down its one
application.

Explain the difference between nuclear fission and nuclear
fusion.

What is Rydberg constant ? Write down its unit.

Define two magnetic elements of earth.

What is eddy current ? Write down its utilities.

Write down energy-losses in transformer.

Explain polarisation of light.

What is electromagnetic wave ? On which factors does its
velocity in vaccum depend ?

What is cyclotron ? State its two limitations.

Find the increase in energy of a condenser of capacity 6 uF
on change potential difference from 10 V to 20 V.

What are ohmic and non-ohmic resistances ? Write down
one example of both.

Define intensity of electric field at any point. Write down
its S.I. Unit.

An electric dipole of dipole moment 2 x 107 cm is kept
inside a closed surface. What will be the net flux coming
out from the surface ?

Question Nos. 21 to 26 are Long Answer Type
Questions. Answer any 3 questions. Each question
carries 5 marks. B x5=15)
What is electric dipole ? Find an expression for electric
potential at any point due to an electric dipole.

What is interference of light ? Find an expression for fringe
width in Youngs double slit experiment.

Mention the defects of human vision and describe the
method to correct them.

Write the properties of diamagnetic, paramagnetic and
ferromagnetic materials.

Define self-inductance and write its S.I. unit. Find the self-
inductance for a solenoid of N turns, length / and radius .
Describe with diagram the working method p-n-p and n-p-
n transistors.

ANSWER

1.
2.

3.
4.

. (A) 2.
. (A) 9.
15.
22.
29.
. (B)
43.
50.
. (©
64.

SECTION - A

(A) 4. (A) 5.
(A) 11. (B) 12.
(D) 18. (C) 19.
(C) 25. (D) 26.
(B) 32. (C) 33.
*) 39. (D) 40.
(A) 45. (C) 46. (B) 47.
(A) 52. (A) 53. (B) 54.
(A) 59. (B) 60. (B) 61.
(C) 66. (*) 67. (A) 68.

SECTION - B

Hint : See 2012 (A) Q. No. 1.
Q ==+ ne
= 10" x -1.6 x 10717
=-1.6x10°=- 1.6 C; Ans.
Hint : See 2013 (A) Q. No. 7.
Hint : See 2015 (A) Q. No. 4.

B) 3.
(B) 10.
(A) 17.
(A) 24.
(A) 31
(D) 38.

D)
(D)
©)
A)
©)
(D)
©)
(A)
(A)
(D)

6.(A) 7.
13.(D) 14.
20. (A) 21.
27.(D) 28. (A)
34.(C) 35. (D)
41.(C) 42. (D)
48. (D) 49. (B)
55.(B) 56. (A)
62.(C) 63. (B)
69. (B) 70. (B)

©)
©)
A) (B)
B)
B)

16.
23.
30.
3
44.
51.
58.
65.

B)
(D)

B)



5.

g

10.

11.

12.

TARGET QUESTION BANK

(1101), =1 x 22 + I x 22+ 0 x 2" + 1 x 2°
=8+4+0+1
=13

(1101), = (13),y; Ans
Hint : See 2010 (A) Q. No. 10

. If in any A.C. circuit is purely inductive or capacitive and the

value of resistance is zero. In this case the phase angel
between voltage and current is ¢ = 90°

and me = Yrms .1,,.cos O ' [ ‘cos 90° = 0]
Hence in this case no any power less in the flowing of current

and this current is called wattless current.

. LED stands for Light Emitting Diode. LED’s are the pn

junction diode connected farword biased. LED’s are made
from semiconducting compound like Galium such as
aresenide or Indium phosphided.

LED are used in indicator light, calculator, watch, traffic,
signal etc.

. Difference, between nuclear fission and nuclear fusion :

Nuclear fission Nuclear fusion

the| (1) Nuclear fusion is the

splitting of a nucleus into

(i) Nuclear fission is

combination of two

smaller particles, releasing smaller atoms to created

a high amount of energy. a large atom releasing

energy.
(i) It is confined to heavy (i) it is confined to lighter

nuclei only. nuclei.

(iii) It is a chain reaction. (iii) Itis not a chain reaction.

(iv) A heavy nucleus splits into|(iv) To lighter nuclei fuse to

two lighter nuclei. form a heavy nucleus.

(v) Large amount of energy is| (V) Energy released is far

released. more than released in a

fission control.

In the science of spectroscopy, under physics, the Rydberg
constant is a physical constant relating to atomic spectra. It is
denoted by R for heavy atoms and R, for hydrogen. Rydberg
constant was first arising from the Rydberg formula as a
fitting parametre. S.I. unit of Rydberg constant is m™' and
value is 1.097 x 10" m™".

Magnetic Declination It is the angle between the
geographic meridian and the magnetic meridian at a place on
the earth. It is denoted by .

Magnetic Inclination : It is the angle between the direction
of the intensity of the total earth’s magnetic field and the
horizontal. It is denoted by 9.

Eddy currents are defined as the currents induced in the form
of closed loops in the body of a conductors due to the change
in the magnetic flux linked with it when placed inside a
varying magnetic field. They are also called Foucault
Currents.

Use of eddy currents :

(i) It is used in household current metres to measure power
consumption.

It is used to check whether the material or surface has
any discountinuities, fractures or faults with harming the
materials.

(i)

13.

14.

15.

16.

17.

18.

19.
. Given, dipole moment (P) = 2 X 107° C-m

21.
22,
23.

Energy losses in transformer :
(i) Copper lose—Copper loss occurs in the form of heat
energy lost due to the resistance of the copper coils used
in the windings of a transformers.
Hysteresis loss—Loss of energy due to continous
magnetization and demagnetization of the transformer is
called hysteresis loss.
Flux loss—Flux loss occues in the coupling of the
primary and secondary coil is not good.
Eddy Current loss—Energy loss in a metallic plate
when kept in a time-varying magnetic field causes eddy
current loss.
Polarization of light refers to the orientation of the
oscillations of electromagnetic waves as they propagate. In
unpolarized light, the electric field vector oscillate in all
possible directions perpendicular to the direction of
propagation. Polarized light, however, has its electric field
vector ascillating prediominatly in a specific direction. This
can occur naturally through scattering or reflection, or
artificially through filters or other optical elements.

Electromagnetic wave are transvers in nature. In this type of

wave gamma rays have minimum value of wavelength and

radio waves have maximum value of wevelength.

The velocity of electromagentic waves in vacumm is 3 x 103

m/s. Hence velocity of elecromagentic wave depends on the

permeability and permittivity of free space.

Cyclotron is a simple device used to accelerate the positive

charged particles. It is based on motion of charged particles in

uniform magnetic field.

Two limitations of cyclotron are—

(i) The mass of an electon is very small. Because of this
reason, the cyclotron device is incapable of accelerating
or speeding up the electron.

(ii) This device is also incapable of accelerating or speeding
up the particles which have no charge.

Given,

C = 6uF =6 x 10°°F
V = (20 - 10) volt
= 10 volt
Increase in energy of a condenser

(ii)

(iii)
(iv)

1
- Ecv2 - %x6><10_16><100 =3 x 107J; Ans.

A resistor is ‘ohmic’ if as voltage across the resistor is
increased, a graph of voltage versus current shows a straight
line (indicating a constant resistance). The slope of the line is
the value of the resistance. Example—Wire, resistor.

A resistor is ‘non-ohmic’ if the graph of voltage versus
current is not a straight line. Example—Vaccum tubes,
thermistros.

Hints : 2020 (A), Q. No. 13.

Total charge in closed surface (Q) = 0
Hence, from Gauss’s theorem,
Net flux coming out from the closed Surface

Ans.
Hint : See 2009 (A) Q. No. 12.
Hint : See 2012 (A) Q. No. 13 (or)
Due to growing age or otherwise, eye may suffer the
following defects :
(i) Myopia or shortsightedness : Myopia is the defect of

eye in which a person can see only nearby objects, but fails to
see the far away objects distinctly. This defect is due to
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Eye lens

Rarallel rays.
from cbiect

{a) Image formation-
by myopic eye

Corractive
lens

FEEN FEmans SR

Eyé )
iens
{b) Corrected mynpia

(a) decrease in focal length of the eye lens.

(b) spreading of the eye-sphere.

Due to these reasons the image is formed in front of the
retina.

Remedy—To eliminate this defect a concave lens of
suitable focal length is used. The equivalent focal length of
concave lens and eye lens should be increased to a value such
that the distinct image of far away objects is formed at the
retina. If a myopic eye has a far point at F, then the parallel rays
from infinity will be incident on concave lens and form its
vertical image at F. This image will act as an object for eye lens
and the final image (/) will be formed at the retina [Fig. (b)].
Clearly, for elimination of myopia the focal length of corrective
concave lens will be equal to the distance of far point of myopic
eye from the eye lens.

(i) Farsightedness or Hypermetropia—Hypermetropia
is the defect of eye in which a person can see only farther
objects but fails to see nearer objects distinctly. This defect is
due to

(a) Increase in focal length of eye lens.

(b) Contraction of eye-sphere.

Due to these reasons the image of a nearby object is
formed behind the retina.

Remedy : The near point of hypermetropic eye is
displaced from D = 25 cm to some distant point. To eliminate
this defect a convex lens of suitable focal length is used. The

Retina

{a) image formation
by hyzermatropic eye

Near point of

dafective eye  COTEClive

convex lens
{&) Coftected hypermetrepia

equivalent focal length of corrective convex lens and eye lens
should be decreased to a value such that the distinct image of
nearby objects is formed at the retina.

Suppose the near point of a normal eye is at N and that of
a hypermetropic eye is at O. The corrective convex lens forms
the image of near point () at point O, then this image will act
as the object for eye lens and the final image (/) will be formed
at the retina. Therefore the corrective lens enables to form the
distinct image of near point (N) at retina.

(iii) Presbyopia—In growing age, the eye lens loses its
flexibility of changing the focal length. Consequently, the near
point of an eye is displaced further and far point of the eye is
displaced nearer, so that the eye is unable to see the nearby as well
as far away objects. This defect of eye is called preshyopia.

This defect may be eliminated by using bifocal lenses.

(iv) Astigmatism—The defect of eye in which horizontal
and vertical objects at the same distance are not focused at the
retina clearly is called astigmatism. This arises when the
cornea is not spherical in shape. For example cornea could have
a larger curvature in vertical plane than in horizontal plane.

If astigmated eye sees a wire mesh or a shirt having
horizontal and vertical lines, then vertical and horizontal lines
are not equally well focused; if vertical lines are well focused;
the horizontal lines may appear distorted or curved and vice
versa. This defect may occur along with the myopia or
hypermetropia.

Remedy : The astigmation is corrected by using a
cylindrical lens having a cylindrical surface of a desired radius
of curvature with an appropriately directed axis.

24. Hint : See 2021 (A) Q. NO. 25.

25. Self inductance of a plane coil—Suppose that a circular coil
of radius ‘7’ has N turns and a current / is flowing through.
it. The magnetic field at the centre of the coil is given by :

u, (27NI NI
B= | — =B =t
dnl 1 2rn

Direction of B will be perpendicular to the plane of the coil
and will depneds upon the direction of current in the coil.
Considering g to be uniform through out the whole surface
of the coil thought its is higher near the edges of the coil.

Now magnetic flux ¢ linked with each of the coil is given by
® =B x A (where A = Area of the coil = 1)

NI I
oo PN oo MmN
2r 2
But total flux linked with the coil : N® = LI
nINIr N2
x”°2 =L1:>L=“°Tr )

Now, if a core of ferromagentic substnce of relative
permeability ‘.’ is inserted in the coil then the magenetic
flux linked with the coil increases by the factor p,, hence the
coefficient of self inductance will also increases in the same
ratio. Thus in this case the coefficient of self induction of the
coil is given by :

RN

> (i)
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In this way the coefficient of self inductance of a coil depends
upon the shape, size and number of turns of the coil. Larger
the number of turns and area of cross-section, large will be
the value of self inductance.

It also depends upon the relative permeability of the material
of the core around which coil is wound.

Self Inducatance of a long soleniod

A solenoid whose length is very large as compared to its
radius i.e. its area of cross-section is known as long solenoid.
Magnetic field at any point on its axis inside the long solenoid
is uniform and is given by :

u, NI
T

where / = Length of the solenoid; N = number of turns in the
total length of the solenoid and I is the current throught the
solenoid.
Therefore the magnetic flux linked with each turn of the
solenoid is given by :

O =BxA
where, A = /2 = Arc of each turn in which r is the radius of

B

the solenoid.

p NI
l

But total magnetic flux linked with the solenoid is N® which
is given by : N ® = LI

w1 TN 22
= NX[% —Ll= L= ”‘)f )

If a core of ferromagnetic of relative permeability p, is
inserted inside the solenoid then equation (i) for self
inductance is written as follows ;

NI
B o o =

b =

RN
B l

In the above equation (i) and (ii) nr? = A which is the area
of cross-section of solenoid. Hence these can be written as
follows in terms of A, respectively :

L ..(i)

N’A
L= HOT (i)
NA
and L= % .(v)

From these formulae it is abvious that self inductance of a
solenoid depends upon the following factors :
(i) Number of turns in the solenoid : L o= N
i.e. Larger the number of turns N in the solenoid, larger
will be its self inductance.
(ii) Area of cross-section of the solenoid : L o< A
i.e. Larger the area of cross-section of the solenoid larger
will be its inductance.
(iii) Permeability of the material of the core of solenoid :
Loy,
i.e. the self inductance of the solenoid increases p, time
if it is wound over a core of ferromagnetic materials of
relative permeability u,.

26. Common-Base p-n-p Transistor Amplifier.
Circuit Diagram : For common base p-n-p transistor
amplifier circuit is shown in fig. in which common to input
and output circuits.

g S
BTG
AT

is made forward baised by a low voltage biasing battery V.,
and the output circuit i.e. base-collector circuit is made
reverse biased by a high voltage biasing battery V.
Therefore the reistance of input circuit is low, of the order of
100 Q and and that of output circuit is high, of the order of
10000 €. Resistance R, is a loade resistance connected in the
base-collector circuit in series with V... The weak input a.c
signal is applied in emitter-base circuit which does not affect
the biasing voltage V, regardless of the polarity of the signal.
The amplified output signal is obtained across the load
resistance R; base-collector circuit.
I, I, and I represent emitter current, base current and
collector current, respectively when no a.c. input signal is
applied. By Kirchhoffs current law, we have
Ip =1 + I (D
Now, according to Ohm’s law, the potential drop across load
resistance R; due to collector current :
Vo =1.+R_ (D
Therefore, the potential difference between collector and base
i.e., collector-base voltage :
Veg = Vee = VL= Vg = Ve — IR ..(2)
But when the input a.c. signal is applied in the input circuit
it will change emitter-base voltage Vj, due for which emittter
current I; will be changed. Hence due to this change in I,
collector current /- would be changed, due to which the collector-
base voltage V., will vary in accordance with equation (2). This
variation in V. due to the application of input signal appears as
amplified output through load R;.
Common-Base n-p-n Transistor amplifier
The circuit diagram for the transistor amplifier is shown in
Fig. The polarities of the biasing batteries V,, and V. both are
reversed of those as in case of p-n-p transistor amplifier becuase
intput circuit (emitter-bases circuit) is kept always forward baised
and output circuit collector-base circuit) is reverse biased.

/
Inputa-c T
‘Weak Signal |

g

Vb

The description of action of this transistor is the same as that
of C.B. p-n-p transistor amplifier. Hence the above two equations
(1) and (2) are valid for this amplifier also.
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B Question No. 1 to 35 have four options, out of which
only one is correct. You have to mark, Your selected

option on the OMR-sheet. 35 x1=235)
1. Isotonic solutions have the same :
(A) Density (B) Normality
(C) Strength (D) Molar concentration
2. An azeotropic mixture of HCl and H,O has :
(A) 48% HC1 (B) 36% HCI
(C) 22.2% HC1 (D) 20.2% HCI
3. A charge of 96500 coulomb liberates ......... from the solu-
tion of CuSO,.
(A) 63.5 gm copper (B) 31.76 gm copper
(C) 96500 gm copper (D) 100 gm copper

4. The cell constant of a conductivity cell is :

/ A R
W ® 5 ©la D

5. The electromotive force of the cell Zn | ZnSO, Il CuSO, | Cu
is 1.1 volt. Its cathode is :

(A) Zn (B) Cu (C) ZnSO, (D) CuSO,
6. Who gave the theory of ionisation ?
(A) Faraday (B) Arrhenius
(C) Ostwald (D) Rutherford
7. The rate of reaction of a substance depends upon :
(A) Atomic mass (B) Equivalent mass
(C) Molecular mass (D) Active mass
8. Which of the following metals is generally found in free
state ?
(A) Cu (B) Au (©) Al (D) Fe

9. Which of the following statements is true ?

(A) All ores are minerals
(B) All minerals are ores
(C) A mineral cannot be an ore
(D) An ore cannot be a mineral

10. Electrometallurgical process is used for the extraction of
which of the following metals ?
(A) Tron (B) Lead (C) Silver (D) Sodium

11. An ore having two different metal atoms is :
(A) Haematite (B) Galena
(C) Magnetite (D) Copper pyrite

12. Which of the followmg elements has electronic configura-
tion 1s% 2s? 2px! 2py! 2pz! ?

(A) Oxygen (B) Hydrogen
(C) Nitrogen (D) Fluorine
13. Which of the following oxides of nitrogen is called laughing
gas ?
(A) Nitric oxide (B) Nitrous oxide
(C) Dinitrogen trioxide (D) Dinitrogen pentoxide

14. Which of the following has highest bond energy ?
(A)O-O0 @®B) S-S (C) Se-Se (D) Te-

15. The oxidation state of Ni (CO), is :
(A) 0 B) 1 ©) 2 (D) 4

16. Which of the following has the highest molar electrical con-
ductor in aqueous solution ?
(A) [Pt(NH,),]CI, (B) [Pt(NH,).Cl] Cl,
(C) [Pt(NH,),CL,]Cl, (D) [Pt(NH,),CL]CI

17 The IUPAC name of Ks[Fe(CN)6] is :
(A) Potassium ferrocyanide

(B) Potassium ferricyanide
(C) Potassium hexacynaoferrate (IT)
(D) Potassium hexacynanoferrate (IIT)

18. Vitamin B, contains :
(A) Cobalt (B) Magnesium
(C) Iron (D) Nickel
19. The coordination number of Ni in [Ni(C,0 4)3]
(A)3 B) 6 © 4 D)5
20. The IUPAC name of CH,
I
CH,—CH—CH,—CH,Cl is :
(A) 1—chloro-2-methyl butane
(B) 1—chloroisopentane
(C) 1—chloro-3-methyl butane
(D) None of these
21. C,H.Br + NaOH — C,H.OH + NaBr is an examples of
which of following types of reaction ?
(A) Electrophilic substitution
(B) Nucleophilic substitution
(C) Both (A) and (B)
(D) None of these
22. Which of the following types of crystal is diamond ?
(A) Ionic crystal (B) Covalent crystal
(C) Molecular crystal (D) Metallic crystal
23. The structure of NaCl crystal is :
(A) Hexagonal close packing
(B) Face centred cubic
(C) Square planar
(D) Body centred cubic
24. Which of the following is an amorphous solid ?
(A) Diamond (B) Graphite
(C) Common salt (D) Glass
25. An octahedral void is surrounded by how many spheres ?
(A) 6 (B) 4 ©) 8 (D) 12
26. Which of the following modes of expressing concentration
of a solution does not depend upon temperature ?
(A) Molarity (B) Normality
(C) Formality (D) Molality
27. Which of the following show positive deviation from
Raoult’s law ?
(A) C,Hg and C;H,CH, (B) C¢H, and CCl,
(C) CHCl; and C,H;OH (D) CHCl, and CH,COCH
28. The osmotic pressure of a solution is represented by wilich
of the following equations ?
L_CR T _pr L CT L RT
A) m="= (B) L=RT (©) m=" (D) "=
29. Alkyl halides from ethers by reacting with which of the fol-
lowing ?
(A) Dry Ag,O (B) Moist Ag,O
(C) Dry ZnO (D) Moist ZnO
30. The IUPAC name of OH
I
CH;—CH—CH,—CHO is :
(A) 2-Hydroxybutanal (B) 3-Hydroxybutanal
(C) 2-Hydroxypropanal (D) None of these
31. Formalin is the commercial name of :
(A) Formic acid (B) Fluoroform
(C) 40% aqueous solution of methanal
(D) Paraformaldehyde
32. An aldehyde on oxidation gives :
(A) an alcohol (B) a ketone
(C) an ether (D) an acid
33. Chloretone is formed when chloroform reacts with :
(A) Formaldehyde (B) Acetaldehyde
(C) Acetone (D) Benzaldehyde



34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

TARGET QUESTION BANK

The general molecular formula of saturated monocarboxy-
lic acids is :

(A) C,H,, ., 0 (B) C,H,,0

(C) CnHZn 02 (D) CnH2n + 1 02

By which of the following formic acid and formaldehyde
can be distinguished ?

(A) Benedict solution (B) Fehling solution

(C) Tollen’s reagent (D) Sodium bicarbonate
Which of the following alkyl halides is hydrolysed by Sy1
mechanism ?

(A) (CH,),CHX (B) CH,CH,X

(C) CH,CH,CH,X (D) (CH,),CX

Chloroform on reduction with Zn and water gives :

(A) Acetylene (B) Ethylene

(C) Ethane (D) Methane

When ethyl bromide is treated with dry silver oxide, then
we get :

(A) Diethyl ether (B) Ethanal

(C) Ethane (D) Ethene

Lucas reagent is :

(A) Anhydrous CaCl, and conc. HCI

(B) Anhydrous ZnCl, and conc. HCI

(C) Anhydrous AICI, and conc. HCI

(A) Anhydrous PdCl, and conc. HCI

Butan-2-ol is a

(A) Primary alcohol (B) Secondary alcohol
(C) Tertiary alcohol (D) Dihydric alcohol
Which of the following is a tertiary alcohol ?

(A) CH,CH,0H (B) <|3 Hs
CH;—C—OH
|
CH,CH,
(C) CH,OH (D) ?Hs
|
H,—C—CH,0OH
CH,OH CHs ? CH,
CH,CH,
The IUPAC name of CH,

|

CHS—CH—CHZOH is:
(A) 2-methyl-1-propanal  (B) Isobutyl alcohol
(C) 2—methyl-1-butanal (D) None of these
A vitamin which plays a vital role in the coagulating prop-
erty of blood is :
(A) Vitamin A
(C) Vitamin E
Chloramine-T is a/an :
(A) Disinfectant (B) antiseptic
(C) Analgesic (D) Antipyretic
Hydrazine is a drug which is used in the treatment of which
of the following ?
(A) Malaria (B) Typhoid
(C) Cholera (D) Tuberculosis
Which of the following is an alkaloid ?
(A) Nicotine (B) Atropine (C) Cocaine (D) All of these
Which of the following is an natural rubber ?
(A) Isoprene (B) Nitrocellulose
(C) Polyethylene (D) Bakelite
A raw material used in making nylon is :
(A) ethylene (B) butadine
(C) adipic acid (D) isoprene
F,C = CF, is monomer of which of the following ?
(A) Teflon  (B) Glyptal (C) Nylon-6 (D) Buna-s

(B) Vitamin B
(D) Vitamin K

50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

With which of the following does acetic acid not from acetyl
chloride ?
(A) PCI (B) PCl,
Acetamide is :
(A) Acidic
(C) Amphoteric
CH,
|
CH;—C—NH,
|
CH,
(A) Primary amine (B) Secondary amine
(C) Tertiary amine (D) Quaternary amine
Methylamine on heating with chloroform and alcoholic
KOH gives :
(A) CH,OH (B) CH,CN (C) CH,;CHO (D) CH;NC
Which of the following is the most basic ?
(A) C4H;NH, (B) (C¢Hs),NH
(C) C,H,NH, (D) (C,Hy),NH
The helical structure of protein is stablized by which of the
following ?
(A) Tonic bond (B) Covalent bond
(C) van der Waals forces (D) Hydrogen bond
Which of the following is a ketohexose ?
(A) Glucose (B) Fructose (C) Sucrose (D) Starch
Which of the following is not a first order reaction ?

(C) socl, (D) l,
(B) Alkaline
(D) Neutral

isa:

(A) CH,COOCH, + H,0 —— CH,COOH + CH,0H
(B) CH,COOC,H; + NaOH — CH,COONa + C,H;OH
(C) 2H,0, - 2H,0 + O,

(D) 2N,045 — 4NO, + O,

The unit of rate constant of a second order reaction is :
(A) Mol L™ sec™! (B) mol™! L™ sec™

(C) mol™' L sec™! (D) mol L sec™!

dx
If the rate equation for a reaction is —— = k[HI"2[B1"? the

dt
order of reaction is :
1 3

(A)2 B) © 5 (D) 1
According to Freundlich adsorption isotherm :

X 1/n m 1/n

ok Tk
(A) =k ®) =kp

x _ k

© xm=kp'" (D) mo i

Milk is :
(A) fat disperesed in water (B) water disperesed in fat

(C) water disperesed in oil (D) fat disperesed in fat
Which of the following is a lyophilic colloid ?

(A) Milk (B) Gum (C) Fog (D) Blood
Which of the following catalysts is used in the manufature
of ammonia by haber’s process ?

(A) Al,O, (B) Fe+ Mo (C) CuO (D) Pt

Which of the following is the molecular formula of Ortho-
phosphoric acid ?

(A) H,PO,  (B) H,PO,
The structure of XeF, is :
(A) Tetrahedral (B) Octahedral

(C) Square planar (D) None of these

Which of the following halogens does not exhibit a position
oxidation state ?

(A) 1 (B) Br

(C) HPO, (D) H,P,0,

©) cl D)F
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68.

69.
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Which of the following has the smallest bond angle ?

(A) H,0 (B) H,S (C) H,Se (D) H,Te
Which of the following has maximum number of unpaired
electrons ?

(A)Mg>*  (B) Ti** (C) V¥ (D) Fe**

The maximum oxidation state of chromium is :

(A) +2 B) +3 C) +4 (D) +6

The number of unpaired electrons in Cu?* (Z=29)is:
(A) 0 B) 1 ©) 2 (D)2

SECTION-B (NON-OBJECTIVE TYPE QUESTIONS)

21.

22,
23.

24,
25.

26.

Question Nos. 1 to 20 are short Answer Type. Answer
any 10 questions. Each question carries 2 marks
(10 x 2 = 20)

What is carbyl amine reaction ?
Wrtie the [TUPAC name of the following compounds :

CHj, OH

| |
(i) CH;—C—CH,0H (i) CH;—CH—CH,—CH,—OH

|

CH,

Discuss the utility of DNA fingerprinting.
Give one example of each of the following

(i) Synthetic polymer (ii) Condensation polymer
Why do transition elements form complex compounds ?
Explain effective atomic number.
Arrange F,, Cl,, Br, and I, in the increasing order of electron
affinities.
Write the electronic configurations of Kr (Z=36) and Xe (Z=54)

. What is mole fraction ?
. Write Raoult’s law of relative lowering of vapour pressure.
. What are network solids ? Give an example.

What is Schottky defect ? Explain with example.
Which is Reosenmund reduction ?

. How is polypeptide bond formed ?
. Write the names and formulae of two ores of iron.

Why is cryolite ore used during the extaction of Al metal ?
Discuss electrochemical principal regarding rusting of iron.
What is the effect of dilution on molar conductance ?

. What are the main differences between physical adsorption and

chemical adsorption ?

. What is Brownian movement ?

Question Nos. 21 to 26 are Long Answer Type Questions.
Answer any 3 questions. Each question carries S marks :
B x5=15)
What do you understand by rate of a reaction ? What factors
affect the rate of a reaction ? Discuss.
What is soap ? How does it act in the cleansing of clothes ?
Write the principle of manufacture of ammonia by Haber’s pro-
cess. How does it react with CuSO,, solution ?
How would you distinguished among primary, secondary and
tertiary alcohols ?
Explain the following with examples :
(i) Aldol condensation (ii) Cannizzaro’s reaction
Write [IUPAC names of the following
Q) OH (ii)<|3Hz—COOH
|
CH;—CH—COOH
(|3 I
(iii) CH—CH—COOH
0]
Il
(v) CH;—C—CH,—COOH

CH,—COOH

(iv) CH,—CH=CH—COOH

ANSWERS

1.
8.
5%
22,
29.
36.
43.
50.
57.
64.

1.
2.
3.

SECTION - A

B) 4.(A) 5.
(D) 11. (D) 12.
(D) 18. (A) 19.
(D) 25. (A) 26.
(C) 32. (D) 33.
(A) 39. (B) 40.
(D) 46. (D) 47.
(A) 53. (D) 54.
(D) 60. (A) 61.
(D) 67. (D) 68.

SECTION - B

Hint : See 2010 (A) Q. No. 14 (or) (i).

(1) 2, 2-Dimethyl-1- Propanol (ii) 1, 3—butanediol
Utility of DNA finger printing :
(i) establish paternity and parentage.

D) 2.(C) 3.
B) 9. (A) 10.
(A) 16. (A) 17.
(B) 23. (B) 24.
(A) 30.(B,D) 31.
(D) 37. (D) 38.
(D) 44. (A) 45.
(D) 51. (D) 52.
(B) 58. (C) 59.
(B) 65. (C) 66.

B) 6.
©) 13.
(B) 20. (C)
(D) 27.(C) 28.(B)
(C) 34.(C) 35. (D)
(B) 41. (B) 42.(A,D)
(A) 48. (C) 49. (A)
(D) 55. (D) 56. (B)
(A) 62. (B) 63. (B)
(D) 69. (D) 70. (B)

(B)
(B)

7. (D)
14. (B)
21. (B)

(ii) identify victims of war and large scale disasters.

(iii) study biodiversity of species.
(iv) track geneticaly modified crops.

4.

N

10.
11.
12.

(v) settle immigration disputes etc.

(i) Synthetic polymers—They are man-made high molecu-
lar mass macromolecules. These include synthetic plas-
tics, fibers and synthetic rubber. Example—polyethelin,
dacron.

(ii) Condensation polymer—Condensation polymres are
polymers made in a condensation reaction between two
monomers, releasing a small molecule in the process.
Examles—Polyester, polymaides, polypeptides etc.

Transition metals generally form more complex or coordination

compound because they are empty valence shell ortibals that

can accepts pair of an electron from lewis base (ligand). That
means ligands must obtain one pair (at least) of the non-bond-
ing electron that can be donated to the metal ion.

Hint : See 2016 (A), Q. No.7 (b).

I, <Br,<Cl, <F,

Electronic configuration of Kr (Z = 36)

= 15?257 2p°® 352 3p0 452 3d'0 4p°
Electronic configuration of Xe (Z = 54)
= 157 257 2p° 352 3p° 3d'0 457 4p° 440 557 5p°

Mole fraction—Mole fraction may be defined as the ratio of

the number of moles of one compoents (solute of solvent) to the

total number of all the components present in the solution

Number of moels of component

= The number of moles of all the components

For example, in a binary mixture, if the number of moles of A
and B are n, and ng respectively, the mole fraction of A and B
will be x, and x; [Mole fraction is a ratio, so it has not unit.]
n n
Ay, =—"B
ny +n B

xA: ny +nB

Hint : See 2014 (A) Q. No. 26

Hint : See 2022 (A) Q. No. 6

Schottky defect—This defect
arises when equal number of )
cations and anions are missin

from the lattice. It is a commoﬁ
defect in ionic compoiunds of
high coordination number
where both cations and anions

)
@
@
®)

Schottky defect

® &6 ®
*)
® &
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13.

14.

15.
16.
17.

18.

TARGET QUESTION BANK

are of the same size e.g. KCl, NaCl, KBr, etc. Due to this defect,
density of crystal decreases and it begins to conduct electricity
to a small extent.

Rosenmuund reduction is a reaction where acid chloride are
converted into aldehydes by empolying hydrogen gas over pal-
ladium poisoned by barium sulphate. An example of this
catelystic hydrogenation of acyl chlorides forming aldehydes is
shown below :

0 0
Il Il

/N wpamso,  /\

R Cl—— R H
acid chloride aldehyde

Due to the high reactivity of hydrogen gas, it readily intiates a
substitution in the acyl chloride, forming HCI and the required
aldehyds.

A polypeptide bond, also known as a peptide bond, forms
through a condensation reaction between the carboxyl group of
one amino acid and the amino group of another acid. During
this process, a molecule of water is released, and the carbon
from the carboxyl group bonds with the nitrogen from the
amino group, creating a peptide bond between the two amino
acids. This process repeats a amino acids are added to the grow-
ing polypeptided chain during protein synthesis.

Ores of Iron : Hematite (Fe,0,); Magnetite (Fe,O,).

Hint : See 2019 (A) Q. No. 18

Electro-chemical theory of corrosion—According to this
theory corrosion posits that corrosion (rusting of iron) arises
from electrochemical reactions at a metals surface. It involves
anodic oxidation, where metal atoms release electrons and
cathodic reduction, often involving oxygen or other speices,
consuming these electrons. This process generates metal ions
and corrosion products. Factors like metal type environment
acidity and temperature influcence corrosion rates. Prevention
strategies include using corrosion resistant materials, coatings
or altering the environment. Understanding and controlling
these eletrochemical processes are crucial in mitigating
corrosion damage in various industries from infrastructure to
electronics and beyond.

Dilution generally increases the molar
conductance of an electrolyte solu-
tion. This effect is due to the de-
creases in the concentration of ions in
the solution as it diluted. With lower
ion concentration, there is less interference between ions,
reduing the chance of ion pairing or aggregation, thereby in-
creasing the mobility of ions and thus the molar conductance.

19.
20.

21.
22,
23.
24,

25.

26.

Hint : See 2013 (A) Q. No. 4.

Brownian movement named after the botanist Robert Brown
who first observed itin 1827, refers to random motion of partils
suspended in a fluid (liquid or gas) resulting from their colli-
sion with molecules of the fluid. The movement occurs due to
the continuous bombardment of the particles by surrounding
fluid molecules, causing them to more in a zigzag, erratic fash-
ion. Brownian movement is a fundamental concept in physics
and plays a significant role in various fields, including colloidal
science, statistical physics and study of diffusion.

Hint : See 2022 (A), Q. No. 24.

Hint : See 2023 (A), Q. No. 19.

Hint : See 2022 (A), Q. No. 22.

Hint : See 2022 (A), Q. No. 23.

(i) Aldol Condensation. The term aldol is derived from
the combination of words aldehyde and alcohol, are
two functional groups present in the products. The
combination of two or more molecules of the same or
different compounds generally with elimination of
simple molecule such as H,O, NHs, HC/, ROH etc. is
called as condensation.

Aldehydes and ketones containing oc-hydrogen atom
(s) undergo condensation reactions in presence of
dilute base such as NaOH, Ba(OH),, Ca(OH),, K2C03
etc. to form products called aldol or ketols and hence
the reaction is known as aldol condensation.
Characteristics of Aldol Condensation :
(i) New carbon to carbon linkage is set up. (ii) The
condensation product i.e., aldol (or ketol) loses a
molecule of water to form unsaturated aldehyde or
ketone. (iii) Molecular weight of the product may or
may not be exact multiple of the molecular weight of
the original compound. (iv) Aldol condensation is
given by compounds having o-hydrogen atom (v) This
reaction may take place between (a) same or different
aldehydes, (b) an aldehyde and a ketone and (c) same
or different ketones.

(ii) Hint : See 2022 (A), Q. No. 14.

(1) 2-hydroxy propanoic acid

(i) butane 1, 4,-dioic acid

(iii) 2, 2-dichloro ethanoic acid

(iv) 2-butenoic acid or but-2-enoic acid

(v) 3-oxo butanoic acid.

[ | [ ]
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10.

11.

12.

13.

14.

Question No. 1 to 70 have four options, out of which only
one is correct. You have to mark, your selected option, on
the OMR-Sheet. Answer any 35 questions.

. What is the use of alpha-1-antitrypsin ?

(A) In treatment of emphysema

(B) In treatment of asthma

(C) As insecticidal protein

(D) In treatment of diabetes

Which of the following methods
amplification of nucleic acid ?

(A) Transformation (B) Transfection

(©) PCR (D) Micropropagation

At what pH insecticidal protein synthesized by Bacillus
thruinginesis becomes active ?

(A) Acidic pH (B) Alkaline pH

(C) Neutral pH

(D) First acidic then alkaline pH

RNA interference is utilized to prevent nematode
infestation in tobacco plants. By which vector are nematode
specific genes introduced ?

(A) Bacteriophage (B) Retrovirus

(C) Escherichia coli (D) Agro bacterium

How many varieties of Basmati rice are grown in India ?
(A) 20 B) 15 <© 27 D) 5

Which of the following organizations makes decision
regarding the validity of GM research and the safety of
introducing GM organisms ?

(A) Department of Science and Technology

(B) Department of Biotechnology

(C) GEAC

(D) Indian Patent Office

Name of Ramdeo Mishra is associated with which field of
research ?

(A) Ecology (B) Biotechnology

(C) Green revolution (D) Genetics

HIV attacks on which of the following cells ?

(A) B—cells (B) T-cells

(C) Epithelial cell (D) T-helper cell

Going down of inorganic water soluble nutrients into the
soil nutrients is called as :

(A) Fragmentation (B) Leaching

(C) Catabolism (D) Humification

According to Robert May how much is the global species
diversity ?

(A) 7 Million (B) 1.5Million

(C) 20-25 Million (D) 2 Million

Biodiversity of India is what percentage of the total global
species diversitiy ?

(A) 2.4% B) 8.1% © 5% D) 9%

What was the reason for extinction of more than 200
species of Cichlid fish in Lake Victoria ?

(A) Co-extinction (B) Alien species invasion
(C) Overexploitation (D) habitat loss

Which of the following is not the reason for global warming ?
(A) Use of fossil fuels (B) Deforestation

(C) Population explosion

(D) Improvement in the efficiency of energy use

Which of the following statements is incorrect about
organic farming ?

(A) Ttis cycle

is used for the

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

(B) Zero waste is generated

(C) maximum utilization of resources

(D) Use of chemical fertilizers

Which of the following statements is incorrect about

temperature ?

(A) Temperature is the most important environmental factor

(B) Temperature decreases from the equator towards the
pole

(C) Temperature increases with increase in height

(D) Temperature is low at the summit of a mountain

At which level is natural selection operated to evolve the

desired orates ?

(A) Individual level (B) Population level

(C) Community level (D) Ecosystem level

When percentage of individuals of pre-reproductive,

reproductive and post-reproductive phase is in decreasing

order in the age pyramid of human population, it shows that

population is :

(A) expanding (B) decreasing

(C) stable (D) unstable

Which of the following reproduces once in a lifetime ?

(A) Pacific salmon fish and bamboo

(B) Mammals

(C) Birds and mammals (D) Litchi and mango

What was the reason for co-existence of five closely related

species of Warblers ?

(A) Competitive exclusion (B) Resources partitioning

(C) Parasitism (D) Commensalism

Which of the following plants produces poisonous cardiac

glycoside ?

(A) Cactus (B) Calotropic

(C) Coffee plant (D) Tobacco

Which of the following are decomposers ?

(A) Fungi and algae (B) Fungi and virus

(C) Fungi and bacteria (D) Fungi, bacteria and virus

Which of the following is not a cloning vector for bacteria ?

(A) Bacteriophage (B) Plasmid

(C) pBR322 (D) T-DNA

Which of the following methods is used to inject

recombinant DNA into nucleus of animals cell directly ?

(A) Transfection (B) Transformation

(C) Gene gun (D) Microinjection

For isolation of DNA a fungus is treated with which

enzyme ?

(A) Lysozyme (B) Cellulase

(C) Dnase (D) Chitinase

Which of the followig is absent in pBR322 ?

(A) Origin of replication ~ (B) Restriction site

(C) T-DNA (D) Antibiotic resistant genes

If a foreign DNA is inserted in tetracycline resistant gene,

the recombinant plasmid :

(A) Will lose ampicillin resistance

(B) Will lose tetracycline resistance

(C) Cloning would become easier

(D) Amplicillin resistance will become stronger

From which of the following bacteria, thermostable DNA

polymerase is isolated ?

(A) Agrobacterium (B) Thermus aquaticus

(C) Methanobacterium (D) Archaebacteria

Which of the following bacteria synthesizes insecticidal

protein ?

(A) Agrobacterium (B) Bacillus thuringiensis

(C) Escherichia coli (D) Archaebacteria

Which of the following statements is incorrect about DNA

replication ?
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.
41.

42.

43.

44.

45.

TARGET QUESTION BANK
(A) DNA replication is semi-conservative. 46. Which of the following is not a part of microsporangium ?
(B) Main enzyme for DNA replication is DNA Polymerase (A) Endothecium (B) Tapetum
(C) Mutation appears due to error in replication (C) Epidermis (D) Micropyle
(D) Replication on both strands of DNA is continuous 47. Which O.f the _following cells divides to form two male
Which of the following enzymes is responsible for gametes in angiospermic plant ? )
transcription of ribosomal RNA ? (A) Vegetative cell (B) Generative Cell
(A) RNA polymerase (B) RNA polymerase I © .M1cr0sp0re mother .cell (.D) Mlcrospo.re )
(C) RNA polymerase IT (D) RNA polymerase III 48. Which of‘) the following is not associated with egg
Some amino acids are coded by more than one codon. Such ?Kl))agsgzzsréi d ®) Ege
code is known as. . f=£:
(A) unambiguous (B) degenerate/redundant 49 (SC) tAlil.UpOdal cellts. th (121) 1-}111f0rm_ap pzﬁat(:ils.
(©) universal D) specific + Scutcllium present in the seeds of grass is caled :
What is the role of y gene in lac operon ? (C) Seed P t (D) E g | axi
A) Codes for B-galactosidase eec oo , SIDIYOnd: axis
( des f 50. In a cross between true breeding red flowered and true
(B) Codes for permease breeding white flowered plants of antirrhinum the F,
(C€) Codes for repressor gene generation was pink flowered which is an example of :
(D) Codes for tra.nsacety'lase (A) Dominance (B) Codominance
Paleontological evidence is based on the study of : (C) Incomplete dominance
(A) embryological development (D) Blending of contrasting forms of a character
(B) comparative anatomy 51. Which of the following statements is incorrect ?
(C) fossiles (A) Characters are controlled by factors
(D) divergent evolution (B) Factors are discrete
What do analogous structures show ? (C) In peas factors are in pairs
(A) Divergent evolution (B) Convergent evolution (D) Alleles blend with each other
(C) Parallel evolution (D) Saltation 52. What is the cytological basis of law of independent
When did pre-historic cave art develop ? assortment ? .
(A) 18,000 years ago (B) 10,000 years ago (A) There is no blending of alleles
(C) 75,000 years ago (D) 40,000 years ago (B) Alleles of a pair separate during gamete formation
Amount of which vitamin increases after conversion of (C) Alleles may be dominant or recessive o
milk into curd ? (D) Palr of chrorposomes arrange themselves in line
(A) Vitamin B, , (B) Vitamin A independently in metaphase I . . )
(C) Vitamin C (D) Vitamin B, 53. Who propounded the chromosomal theory of 1nhe1j1tance ?
Alexander Fleming discovered pencillin while working on (é) Mendel (g) Isrlmt(l)<l'1 and Boveri
which of the following bacteria? (©) Morgan .. (D) Henking =
54. Which of the following is not a chromosomal disorder ?
(A) Streptococus (B) Acetobacter (A) D ) d (B) Klinefelter d
(C) Staphylococcus (D) Lactobacillus ©) Tl?rvrzgr’ss Sz;néﬁife (D) Hz;:;gplfirlisa syhdrome
‘Zhl;h of the following 1nh1b];ts ssynthesi(s. of cholesterol ? | £z i provided X-ray diffraction data of DNA ?
(A) Protease (B) Streptokiase (A) Maurice Wilkins & Rosalind Franklin
(©) Penicillin (D) Statin (B) Chargaff
Capacity of generate a whole plant from a plant cells is (C) Wastson and Crick
called as : (D) Holley
(A) Tissue culture (B) Pluripotency 56. What was the conclusion of Hershey and Chase
(C) Totipotency (D) Micropropagation experiment ?
Hisardale is a breed of which of the following animals ? (A) Genetic material of bacteria is DNA
(A) Cow (B) Buffalo (C) Sheep (D) Chicken (B) Genetic material of virus is DNA
Which of the following techniques was used to get yellow (C) Genetic material of bacteria is RNA
mosaic virus resistant mung lentil ? (D) Genetic material of virus is RNA.
(A) Mutation breeding (B) Introduction 57. Which of the following is not a termination codon ?
(C) Hybridisation (D) Tissue culture (A) UAG (B) UGA (© AUG (D) UAA
Reason for movement of DNA fragments towards anode in | 58. What is the meaning of charging of -RNA ?
electrophoresis is DNA fragments being (A) Linking of amino acid with cognate -RNA
(A) Negatively charged  (B) Positively charged 51(3:; :?ttacllnnlent 01£ {{EIXA WE%I) TIE/})SS.I?G o RNA
(C) Charged ranslation o odification
(D) Chargged with charges of both types 59. xl)liS%hI Bg the f(tj)slgovl\vgnlg isa ?g)n-i(rjlfectiouS(cll)ifegrse ‘}’1 .
Which of the following is not responsible for vegetative alaria ancer yphot
propagation of plants 2 P & 60. Which of the following blood cells is known as PMNL ?
(A) Offset (B) Bulb  (C) Rhizome (D) Gemmule (é) ;Ymphoﬁylte (g) %’{OH?CW
Which of the following statements is incorrect ? 61 %VL eutrophi .. (D) Platelets
Py - . ich of the following is abundantly found in colostrum ?
(A) Antheridia are present on antheridiophore of female
- (A) IgA B) IeG © IgM (D) IgD
thallus of Marchantia 62. What is diacetyl morphine?
(B) Chara is monoecious . (A) Codeine (B) Heroin
(C) Diploid gene forms gamete after meiosis L K
(D) Zoospores are formed in Chlamydomonas © .Cannabu}md (D)- Coke
. P 0 nlamys . 63. Which fever is confirmed by Widal test ?
Which ’0£ the following plants is referred to as ‘Terror of (A) Malaria (B) Typhoid (C) AIDS (D) Pneumonia
Bengal’ ? 64. After how many months of pregnancy, do limbs and digits of

(A) Water hyacinth
(C©) Lantana

(B) Bamboo
(D) Parthenium

embryo develop ?
(A) 2 months (B) 3 months (C) 1 months (D) 6 months
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65. Which of the following secretes large amount of
progesterone ?
(A) Graafian follicle (B) Corpus albicans
(C) Corpus lutenum (D) Primary follicle

66. After ovulation the ovume is surrounded by a group of cells
called :

(A) Corona radiata (B) Zona pellucida

(C) Granulosa cells (D) Theca layer
67. Which of the following cells is haploid ?

(A) Oogonia (B) Primary oocyte

(C) Secondary oocyte (D) Zygote
68. A new contraceptive pill which is non-steroidal is referred

as:
(A) LNG20 (B) Progestaset
(C) Saheli (D) Lippes loop

69. What is the population growth rate of India as per 2001
census ?
(A) 1.1% B) 3.7%

(C) Approximately 2% D) 3%

70. Which of the following IUDs is hormone releasing ?
(A) Multiload 375 (B) LNG=20
(C) Lippes loop (D) Copper-T

SECTION - B (NON-OBJECTIVE TYPE QUESTIONS)

B Question No. 1 to 20 are Short Answer Type. Answer any
10 questions. Each question carries 2 marks.(10 x 2 = 20)

1. What is incomplete dominance ?

2. What would be the blood group of offspring, if the blood
group of mother is AB and blood group of father is O ?

3. Draw the symbols used for male, female, mating and
consanguineous mating in human pedigree analysis.

4. What are the goals of Human Genome Project ?

5. What is the relationship between thorns of Bougainvillea and
tendrils of Cucurbita ?

6. Name the different speices of Plasmodium. Which species is
responsible for malignant malaria ?

7. What are the factors which affect population growth ?

8. Explain parasitic adaptations.

9. What is cell mediated immunity ?

10. What is cyclosporing-A and what is its use ?

11. What are the primary and secondary productivities ?

12. What is Dobson unit ?

13. How are DNA fragments separated and isolated ?

14. What is ELISA ?

15. What is MOET ?

16. How is the name given to restriction endonucleases ?

17. Describe the structure of microsporangium.

18. Explain double fertilization.

19. What are spermatogonia, primary spermatocytes and
secondary spermatocytes ?

20. What are contraceptive pills ? How do they function ?

B Question Nos. 21 to 26 are Long Answer Type. Answer
any 3 questions. Each question carries 5 marks. Give
your answer in about 120 words. [3 x5 =15]

21. Explain the causes of biodiversity loss.

22. Write short notes on the following
(A) Phosphorus cycle (B) Primary immunity

23. Write short notes on the following :

(A) Allergy
(B) Chemical composition of DNA

24. How is gene of interest amplified by using PCR ?

25. Answer the following questions :

(A) Stability of DNA is higher than that of RNA. How ?

(B) What are the roles of three parts of transcription unit ?
26. Write brief notes on the following ?

(A) Implantation (B) Autogamy

ANSWER

1. (A) 2. © 3

SECTION - A
B) 4. D) 5. (C) 6. C) 7. (A)

8. D) 9. B) 10.(A) 11.(B) 12.(B) 13.(D) 14. (D)

15.(C) 16.B) 17.(A) 18.(A) 19.B) 20.(B) 21. (C)

22.(D) 23.(D) 24.(D) 25.(C) 26.(B) 27.(B) 28.(B)
29.(D) 30.(B) 31.(B) 32.(B) 33.(C) 34.(B) 35.(A)
36.(A) 37.(C) 38.(D) 39.(C) 40.(C) 41.(A) 42. (A)
43.(D) 44.(A,C)45. (A) 46.(D) 47.(B) 48.(C) 49. (B)
50.(C) 51.(D) 52.(D) 53.(B) 54.(D) 55.(A) 56. (B)
57.(C) 58.(A) 59.(C) 60.(C) 61.(A) 62.(B) 63.(B)
64.(A) 65.(C) 66.(A) 67.(C) 68.(C) 69.(C) 70. (B)

10.

SECTION - B

. Hint : See 2018 (A) Q. No. 1.
. If the blood group of mother is AB and blood group of father

is O, then the blood group of offspring will be A or B.

. Symbols used in human pedigree analysis :

For Male — 6 s For Female §

For Mating g For consanguinesou mating ¢

. Goals of human genome project :

(i) To develop ways of mapping the human genome at
increasing fine level of precision.

(i) Identify all the genes in human DNA.

(iii) Determine the sequence of the 3 billion chemical base
pairs that make up human DNA.

(iv) To store this information in database and tools for data
analysis.

(v) To address the ethical, legal social issues that may arise
from this projects.

(vi) Transfer related technologies to other sectors such as
industries.

. Tendril of cocurbita and thorns of Bougainvillea are

homologous organs because they are similar in origin as
they are modified branches and axial in position. Their
different function is modified for protection and in cucurbita,
thendrils are for climbing.

. Different speices of Plasmodium :
Plasmodium falciparum Plasmodium vivax
Plasmodium ovale Plasmodium malariae

Plasmodium knowlesi
Plasmodium faciparaium is responsible for malignant
malaria.

. There are many factors which affect population growth.
These are—
(i) food availability (i) predation pressure
(iii) weather conditions (iv) birth rate

(v) death rate, etc.

. Parasitic adaptation refers to the evolutionary traits and

behaviors that parasites develop to survive within their host
organism. these adaptations can include specialized
structure for attachement, evasion of host immune
responses and machanism for obtaining nutrients from the
host. Essentially, parasites have evolved to exploit their
hosts for survival and resproduction.

. Cell mediated immunity is a branch of the immune system

that involves the activation of immune cells, particulary T
lymphocytes (T cells), to defend the body against
intracellular pathogens such as some bacteria and parasites,
as well as abnormal cells like cancer cells.

Cyclosporine—A is a medication that belongs to a cells of
drugs called immunosuppessants. It is derived from a
fungus and is used primarily to prevent rejection of
transplanted organs, such as kidneys, hearts and livers. It
works by suppressing the immune system’s response to the
transplanted organ, thereby reducing the risk of rejection.
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11.

12.

13.

14.

15.

16.

17.

18.
19.

20.

21.
22.

TARGET QUESTION BANK

Primary Productivity—Primary productivity refers to the
rate at which energy is converted by photosynthetic
organism (like plants and algae) into organic substances
through the process of photosynthesis. This energy is
stored in the form of chemical bonds in organic matter, such
as carbohydrates.

Secondary Productivity—Secondary preductivity refers to

the rate at which consumers (heterotrophic organisms)

convert organic matter in biomass. This includs herbivores
consuming plants, carnivores consuming herbivores and so
on within a food chain or food web.

A Dobson unit (DU) is a unit of measurement used to

quantify the concentration of ozone in the Earth’s

atmosphere. It represnets the thickness of a layer of ozone
that would be equivalent to 0.01 millimeters if compressed to
standard temperature and pressure conditions.

DNA fragments are separated and isolated using techniques

like gel-electrophoresis or chromatography based on size,

charge or affinity.

Enzyme Linked Immun-Sorbent Assay (ELISA):

(It is based on the principle of antigen-antibody
interaction.

(ii) Infection by pathogens can be detected by the presence
of their antigens (proteins, glycoproteins, etc.) in body
fluids/tissues or by detecting the antibodies
synthesised by the host against the pathogen.

MOET stands for Multiple Ovulation and Embryo Transfer.
It is a reproductive technology used in animal breeding to
accelerated genetic improvement by inducing multiple
ovulations in a female animal, inseminating her with seman
from a superior male and transferring ensulating embryos to
recipient females.
Restriction endonucleases are typically named after the
organism they were first isolated from, followed by a Roman
numeral indicating the order of discovery. For example,
EcoRI was the first enzyme isolated from Escherichia coli.
The microsporangium located within the anthers of
flowering plants, is composed of several layers of
specialized cells. The outermost layer the epidermis,
provides protection. Beneath it, the endothecium undergoes
secondary thickening to aid in anther dehiscence. The
middle layer compresed of parenchyma cells, may offer
structural support. The innermost layer, the tapetum,
nourishes developing microspores by producing and
secreting essential substances. These layers collectively
facilitate microspore development, culmination in the
production of pollen grains. The microsporangium’s
intricate structure ensours the successful progagation of
flowering plants through pollen dispersal and subsequent
fertilization.
Hints : See 2017 (A) Q. No. 12.
Spermatogonia are diploid cells found in testes that
undergoes mitosis to produce primary spermatocytes.
Primary spermocytes are also diploid and undergoes meiosis
I to from secondary spermocytes.
Secondary spermocytes are haploid cells that undergo
meiosis II to produces spermatids, which eventually
differentiate into sperm cells.
Contraceptive pills are oral medications containing
hormones, usually a combination of estrogen and progestin
or progestion alone. They prevent pregnancy by inhibiting
ovulation, thickening cervical mucus to prevent sperm from
reaching the egg and thinning the uterine lining to reduce the
likelihood of implantation if fertilization does occur.

Hint : See 2018 (A) Q. No. 18 (or).

(A) Phosphorus Cycle—Phosphorus is a major constituent
of biological membranes, nucleic acids, cellular energy
transfer systems (ATP) and also of shells, bones and
teeth. The natural reservoir of phosphorus is rock,
which contains phosphorus in the form of phosphates.

23.

24.

25.

26.

When rocks are weathered, minute amount of these
phosphates dissolve in solution and are absorbed by
the roots of the plants. Herbivores and other animals
obtain this element from plants. The waste products
and the dead organisms are decomposed by phosphate
solubilising bacteria releasing phosphorus.
Primary Immunity—Primary immunity refers to the
intial immune response mounted by the body upon
encountering a specific pathogen or antigen for the first
time. This response involves the activation and
proliferation of immune cells, such as T cells and B cells,
and the production of antibodies tailored to target the
specific pathogen.

Hints : See 2019 (A), Q No.—16.

DNA  (deoxyribonucleic acid) is composed of

nucleotides which constist of three main components L

a sugar molecule (deoxyribose), a phosphate group and

one of four nitrogenoues bases—adenine (A), thymine

(T), cytosine (C) or guanine (G)

These nucleotides are arranged in a double helix

structure, with the sugar-phosphate backbone forming

the sides and the nitrogenous bases pairing in the

centre via hydrogen bonds (A with T and C with G).

PCR is a technique used to amplify a specific segment of

DNA, including a gene of interests. Here’s a brief

explanation of how PCR amplifies the gene of interest—

(i) Denaturation—The double-stranded DNA containing
the gene of interest is heated to a high temprature,
typically around 95° C causing the two strands to
seprated or denatured, into single strands.

(ii) Annealing—The reaction mixture is cooled to a
temperature typically between 50-65°C. At his lower
temperature, short DNA primers that are complementary
to sequence flanking the genes of interest annela, or
bind to their complementary sequences on each single-
stranded DNA template.
Extension—The reaction temperature is increased to
around 72°C, which is the optimal temperature for DNA
polymerase activity. A heat-resistance DNA polymerase
enzymes synthesis new DNA strands by extendign
from the primers along the template strands, generating
complementay copies of the gene of interest.
Repeat—The denaturation , annealing and extension
steps are repeated in cycles, typically 20-40 times,
resulting in exponential amplification of the target DNA
sequence. Each cycle doubles the number of DNA
molecules, leading to a significant increases in the
amount of the gene of interest.

By the end of the PCR process, the gene of interest is

amplified to a level that is detectable and suitable for

downstream application, such as sequencing, cloning or
analysis.

(A) DNA is more stable than RNA due to the absence of a

hydroxyl group at the 2’ position of deoxyribose sugar,

the double stranded helical structure and fewer
secondary structure formation, making it less prove to
degradation.

The three main parts of a transcription unit—

(i) Prometer—Intitiates transcription by bind RNA
polymerase.

(ii) Coding region—Contains the gene sequence for
mRNA synthesis.

(iii) Terminator—Singals the end of transcription and
release RNA polymerase.

Implantation—Implantation is the process by which a

fertilized egg, or embryo, attaches to the lining of the

uterus, where it then embed and begins to grow and
develop.

Autogamy—Autogamy is a type of self-fertilization

where the egg and sperm come from the same individual

organism.

(B)

(A)
(B)

(iii)

(iv)

(B)

A)

(B)
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Time : 3 Hours 15 Minutes] [Full Marks 100
Instructions for the candidates : See Previous Paper

Section — A (Objective Type Questions)

B Question Nos. 1 to 100 have four options, out of which
only one is correct. Answer any 50 questions. You have to
mark your selected option on the OMR Sheet.

1 J‘ dx
PR

A ltan71£+c
A) - o

C ltan_1£+c
© 7 P

2. J. secx dx =

(A) loglsecx+tanx|+c

(C) logsecx+c

3. J sec” xtan x dx =

(A) 5 tan’x + ¢
(C) Sloglcosx|+c

4. J tan? xdx =

(A) tanx+x+ ¢
(C) cotx+x+c

. J‘ cost2 di =

cos? x.sin® x
(A) cotx—tan x + ¢
(C) —cotx—tanx + ¢

4
1

6. J x2+ dx=
x“+1

3
A) —+
(&) +e

©) 2 tan”! x + ¢

1—cos2x

1+4cos2x
(A) tan x + ¢
(C) tanx—x+c¢

3 J' dx
’ 2-3x

(A) —3logl2-3xl+¢
(C) —log 12 -3xl+¢
dx
e
1+x
(A) tan"* + ¢

1 _
(©) tan x4+

(50 x 1 =50)

X
Z4e
a

(B) tan

[
(D) —tan "x+c
a

(B) loglsecx—tanxl+c

D) tan5 xX+c

I 5
(B) gsec’x+c

(D) tan® x + ¢

(B) tanx—x+ ¢
(D) cotx—x+c¢

(B) tan x —cot x + ¢
(D) —tan x + ¢

3
B) x?—x+ 2tan ! x+c

x3 -1
D) ?+x+2tan x+c

(B) tanx+x+c¢
(D) —tanx+x+ ¢

B) - %logl2—3xl+c

(D) 2 tan~'x* + ¢

(B) 4 tan~ % + ¢

(D) 2 tan~'x* + ¢

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

J. xe*dx =

(A) e+ ¢ B) x—1+c¢
C) ef(x=1D+c D) & x+1)+c
The order and degree of the differential equation
d*y ), (dyV_ dy
— +x|— | —y—=0 is:

w dx? * ( dx ] J dx 18

(A) order = 2, degree = 1 (B) order = 2, degree = 2
(C) order =1, degree = 2 (D) order =1, degree = 1
The integrating factor of the differential equation

%+2y=sinx is :

(A) e (B) & ©) & )
The solution of the differential equation % =" s
(A) " +eV =¢ B) " +e¥ =c

©) ¥ 4e¥=c D) e 4eV=¢

The solution of differetial equation % :% is :

(A) y=loglxl+c (B) y=cx

(C) y=xloglxl+cx (D) y=loglxl+ex
The integrating factor of the differential equation
% +2y=e" is:

(A) > (B) ¢ ©) ¢~ (D) *
(47 +37+3k). (61 —4] +k) =

(A) 22 (B) 15 ©) 21 (D) 18
T +3]-2k)x (- +3k) =

(A) 97 —j+3k (B) 9i+j-3k

©) T—j+3k D) T+j-3k
li—j—kl=

A) 3 B) 3 © 2 D) 2
Jjj=

(A) 0 B) 1 © -1 D) k
kxj=

(A) —j B) j © 0 D) k

The slope of the tangent to the curve y = 2x> + 3 sinx at
x=0is:
1 1
() 3 B -3 © 5 (D) -3
The rate of change of the area of a circle with respect to its

radius r (in cm2/cm) atr =6 cmis

(A) 10m (B) 12 (©) 8n D) 11n
If events A and B are independent then :

(A) P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=0

(D) P(AN B)=P(A)+ P(B)
The probability of drawing a king from a pack of 52 cards is :

1 4 1 1
A 13 B) 13 © 5, D) 4



TARGET QUESTION BANK

1 1 1 « Jx
P(A)=—,P(B)=—,P(ANB)=-= P(B/A)= N =
3 4 5 S NN P
2 3 1 4 p
A3 B) 3 © 3 D) 3 (A) a (B) (C) 2a (D) 3a
. A coin is t.ossed 10 times. The probability of getting exactly 2
six heads is : 37. J cos2x dx =
6 7 0
(A) 10C6 1 (B) 10C6 1 (A) 0 B) 1 ©) -1 (D) 2
2 2 n/6
) N | 0 38. J-o oS x.cos2x dx =
(©) 1°C6(5J (D) ‘°C6(5J (A) 5/6 (B) 1/6 (©) 5/12 (D) -5/12
g
6 5 7 . J tan x dx =
P(A) = P(B) = PAUB) = = P(AAB)= 39 )
(A) -1 (B) 0 ©) 2 (D) -2
A = B) = o = D) = ’ 1
A7 (B) © 7 ST 40._[de=
. The equation of the xy-plane is : 4 VX
(A) x=0 (B) y=0 (A) 2 (B) ms6 ©) ms4 D) mr2
©) z=0 (D) None of these a1
. The direction cosines of z-axis are : 41. cos [—E)=
(A) (1,0, 1) (B) (0,0,1) N .
(©) (0, 1,0 (D) (0,0,0) n T r 5
. The distance between the points (4, 3, 7) and (1, -1, -5) is : (A) 3 (B) 3 © 6 D) 2
(A) 13 (B) 15 ©) 12 (D) 5

42. xe[-1,1],cos 'x=
J (x+cos2x) dx =

A E—cot_lx E—sin_lx
) ®)
1 . 1 1 . 1
(A) —xsin2x+—cos2x+c  (B) —axsin2x——cos2x+c T 1 T 1
2 4 2 4 ©) E—tan X (D) E—sec X
2 .
sin2 .
(C) 2xsin2x+4cos2x+c (D) %+TX+C 43. xe[-1,1],sin7'(-x) =
(A) - sin"lx B) sin~x © —cos”'x (D) cos”lx
Jex{sin1x+ }dx= 44. cosec lx= ... ; x>l o0r <1 1
I-x (A) sin”'x (B) sin_1;
1
e’ +c .1
(A) 1_x2 (B) e“.sin" x+c (C) cos_lx (D) COS_1;
e . a1l
© ?"“ D) e*.costx+e 45. tan|tan §+tan 517
J & (A) 1 (B) 0 © 2 (D) 3
x(x+2) B 46. sin(cof1 X)=
(A) logl—x I+¢ (B) llogl Y ie (A) 1+ x? B) x
x+2 2 x+2 1
C) loglxl+ D) loglx+21+ 24372
(©) loglxl+c (D) loglx c ©) a+x O i+ 2
J Va? - x’dx= _1( 775]
47. cos cos? =
2
FJa2 42 a4 1t T 5T T
(A) 5 a”—x“dx (B) 5 sin a+c (A) o (B) o (©) 3 D) ~
2
© %\/az—x2+%sin_1£+c 48. g—sin_l[—;Jz
a
2 2n T
(D) g\/xz—az—%sin_1§+c (A) 0 ®) 3 © 5 D)
2 49. tan~'\3 —sec™'(-2) =
J sin’ xdx=
-m/2 21

T T
A) -1 (B) 0 ©) 1 D) 2 (A) —3 B) 3 © 7 (D) =




50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

63.

64.

MATHEMATICS - XII, 2024 (A)

Let R be the relation in the set N given by R = {(a, b) : a =
b —2, b > 6}. The correct answer in the following is :

(A) (6,8)eR (B) (2,4)eR
(C) (3,89€R (D) 8, 7eR
Gx(b+3E)+bx(c+ad)+cx(@+b)=

A1 (B) 0 © -1 D) 3
i.(jxk)=

A1 (B) 0 © -1 ®) 7

If =17+ ] +2k , then the corresponding unit vector é in the
direction of g 1is:

i+j+k i+j+2k

A) —% ®

© T+j+2k D) i+j+k
6 ( 6

If 37 +7-2k and §+2j—3k are perpendicular to each
other :
(A) -3 (B) -6 (€) -9 D) -1

f cot? xdx =

(B) —cotx+x+k
(D) cotx—x+k

(A) cotx+x+k
(C) —cotx—x+k
The angle between the vectors 27 —3j +2k and [ +4; +5k

is :
(A) 30° (B) 90° (C) 45° (D) 60°
la+bl=ld-bl=

(A) lal=1b1 (B) allb ©) dl1b (D) 1dl=0
The projection of the vector [—2j+ k on the vector
47 -4+ 7k is:

(A) 9 (B) 19/9 (C) 9/19 D) 19

The minimum value of Z = 3x + Sy subject to the constraints
where x+y<2,x>0,y2>0 is

(A) 16 (B) 15

©) 0 (D) none of these
The maximum values of Z = 3x + 2y subject to the constraints

where 3x+y<15,x20, y>0is :

(A) 30 (B) 15
(©) 10 (D) none of these
x o x+l
-1 x|
(A) 1 B) 0 © 2 (D) -1

If the operation * is defined as a * b = 2a + b then
(2#%3)*4is:

(A) 30 (B) 20 ©) 18 D) 15
11 =2

2 1 -3|=

5 4 -9

(A) 2 B) 1 ©) 0 (D) -la
3 -4 5

11 2=

2 03 1

(A) 0 (B) 46 (C) 46 D) 1

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

1

25 30
(A) [35 8

Jo|

f A — B will be can onto function, if :
(A) f(AcB
©) f(AH>B

(B) fA)=8B

5 6
lo 24 ol

(D) none of these

A= |:ajj:| is a square matrix if :
mxn

(A) m=n
C) m>n

-3
5

(A)

©

0 1
A=l o) =A

0
A1y o

05
© |5 o

If A= 3
-1

25 2
@ | 3| ®

d
—log(sec x + tan x) =
dx

1
(A)

(C) tan x

d _ _
—(sec ' + cosec 1)c) =

B) 0

1—cosx
in

dx

A) 1

Ifty= tan™!

A) 1

-3 -18
5 30

12

5 30
-3 -18

|

[l 6 4]=

B) m<n

(D) none of these

(-3 -18
2 12
5 30

(B)

(3 18 12
5 30 20
2 12 8

D)

01
B o1

10
D) 1 1

-5
) } then adjoint A =

secx + tanx

X

B) -1

(B) secx

12

=20

J o] ol

(D) secx + tan x

dy
then o

©) 2 (D) -1
1 1
© 3 D) -5

dy
Ifx=asec 9,y =>btan 9 then =

A ésece écosecG C écote b
) ®) © - D) -

dx

: : . dy _
If y=\/S1nx+\/s1nx+1/smx+....oo then e

sin x

(&) 2y-1

B 5

COS X

© 5,51 O

17

25 30
25 40

2 1
53



18

76.

71.

78.

79.

80.

81.

82.

83.

84.

85.

TARGET QUESTION BANK
&y 86. If two planes 2x — 4y + 3z =5 and x + 2y + Az = 12 are
=20 2 mutually perpendicular to each other then A =
If y=x"" then 12 A) 7 (B) 2
18 (©) 3 (D) none of these
(A) x (B) 204" (©) 38048 (D) ,1° x-3 y-4 z-5
87. If the line =T, T o is parallel to the line
J. V1+cos2xdx = ¢
z
~=5=75,then:
(A) J2cosx+c (B) 2sinx+c 503 2
b ¢
2 _ a_2_¢
©) Zte (D) V2ZsinT+e (A) Sa+3b+2c=0 B 57373
* (©) sa=3b=2c (D) none of these
J‘ lngdx: . X~ _ YN _27%4
X 88. If the line b a is parallel to the plane
(A) %(log ) +e B) - %(log 0’ te ax+ be +ez+d =0, then :
_b_q
2 2 (A) a_ P B) ax+bhy+az=0
(€) Z+c (D) ——5*¢ .
X X (©) @ay, +bby +cjc; =0 (D) none of these
cos\/— x 2 |6 2
Jx 89. If 18 s 6 then x is equal to :
(A) 2sinx +c B) sinVx+c¢ (A) 6 (B) =6 © -6 D) 0
(©) cos \/; +c (D) 2005\/; +c 9(). J V1 =sin2xdx =
J Jeos x.sin x dx = (A) sinx+cosx+c (B) sinx—cosx+c
(C) cosx—sinx+c (D) tanx—cotx+c
(A) (COSX)3/2 B) - (CO”C)M 91. If A= {2 _3] then A™! =
4 6
© (COSX)3/2 +c (D) (cosx)3/2 M1 (1 1
The direction ratios of two straight lines are /, m, nand [, m, Z g Z g
n,. The lines will be perpendicular to each other if : (A) 11 B) 11
A) I_m_n 5 12 s 12
beomm (48 (4 8
B Ll © |6 12 D) {6 12}
h m m 3 6 78
92. If A= d B= then 6A — 5B =
© P+m?+n® =1 +m’ +n} {—5 4} an {5 6] -
(D) I +mm +nn =0 17 4 17 -4
The direction ratios of a straight line are 1, 3, 5. Then its (A) 5 54 (B) 5 54
direction consines are :
i1 | 5 -17 -4 17 -4
— © =5 -6 D) |55 —s4
) 935 ® 5 J— V35
| 242 0
—,—,— 93. If A= then A
© /35" 35 35 (D) none of these 3 2
The equation of the plane parallel to the plane 3x — 5y + 4z _ 5 _
=1lis: 2 -3 2 3
(A) 3x—5y+4z=21 (B) 3x+5y+4z=25 .
(C) 3x+ 5y +4z =35 (D) none of these ) [V2 2 ® [V2 2
The angle between two planes 2x + y — 2z = 5 and 3x — 6y — L 0 2/5 L 0 2/5
2Z =7 iS N r 3 2
T T [3 -2 2/5
A 5 ®) 2 V2
2 4 ©) 5 0 D) 3 V2 0
(©) cos™'(4/21) (D) cos™(16/61) -

The distance of the plane x — 2y + 4z = 9 from the point
2,1,-1)is:

13 13v21
(A) 5 ® =
21
© 3 (D) none of these

9.

If 2A+ B+ X =0, where Az[;l ﬂ and B:[? ;2}then X=

12 12
A7 3 B 17 13

12 12
© 17 -3 D17 13



95. [xy]l=[2x-1 9] =
(A) x=3,y=9
C€) x=0,y=9

d .o
96. dx(sm x) =

(A) 2 sinx
(C) cos 2x

97. i (x5 +cos2x) =
dx

(A) 5x* + sin 2x
(C) 5x* — 2 sin 2x

d
98. —-(sec” )=

1
W =

99, —(a")=

100. ilog(cos Xx) =
dx

(A) tan x
(C) cotx

MATHEMATICS - XII, 2024 (A) 19

(B) sin 2x
(D) 2 cos x

B) 5x* + cos 2x
(D) x + 2 sin 2x

1

®) a2 -1
1

D) xx? -1
(B) a*logx
(D) loga
(B) —tan x
(D) —cotx

Section—B (Non-Objective Type Questions)

B Question Nos. 1 to 30 are Short Answer Type. Answer
any 15 questions. Each question carries 2 marks.

15x2=30

1. Find the distance between the planes x — 2y + 2z = 6 and 3x

— 6y + 62 =2.

2. Find the equation of the plane whose intercepts on the axes
of x, y, z are respectively 2, 3 and —4.

-1
3. Find the values of p so that the lines XT =

z—1

x+4  y+9
2 2 2

and

z+17
14

y-2
3

are mutually perpendicular.

4. Find the mean for the following probability distribution :

X

o1 [27]3

i

p |18 3838|178

5. If g

la+bl.

Vol

i—j+k and b =2i+ j+3k then find the value of

6. Find the direction consines of the vector3; —4; + 12k -

7. If x cos y = sin (x + y) find ?
X

. . 1 2 . .
8. Differentiate tan 17)62 with respect to sin

1—x

1
1+x

5

d
9. 1f x=\1+12, y =\1—¢ then find ﬁ.

10. Find fog and gof if f(x) = 8x° and g(x) = x'?.

11. Find the angle between the vectors 5i +3j+4k and

6i —8j —k .

12. Maximize Z = 20x + 3y subject to 3x + 2y <210,x =0,y = 0.

13. Solve : xzd—y =2xy
dx

14.

15.

16.

17.

18.

19.

20.

21.
22,

23.

24.

25.

26.

27.

28

29.

30.

31.

32.

33.

34.

35.

36.
37.

38.

1 1 1
Evaluate the determinant |a b ¢
& ol
2 2 -4
If A=|-1 3 4 |, show that A® = A.
1 -2 -3
M2
Find the value of X COS X dx
0

Integrate J sin® x dx

Integratej S
Nx+l+yx+2

Integrate J cos® x.sinx dx

2

Integratej x -l dx
X" +4

Solve : L ety
d.

X
Prove that 4 (cot™' 3 +cot™'2) ==

Prove that tan'x + tan™" y= tan~! 1—
Cdy '

Find I if y = «sinx

If i hen find &
y = sin (xy) then fin I

Integrate : J (x+2)%dx

2
Evaluate P (A U B) if 2P(A)= P(B) :% and P(A/B)= re
- d
It y=x%0% find
dx

A2 dx
Find the value of P

0 1++/tanx

“ T2 2
Find the value of J a”—x" dx
0

Question Nos. 31 to 38 are Long Answer Types Ques-
tions. Answer any 4 questions. Each question carries

5 marks. 4x5=20
14 _ a1
Prove that sin”™' = +sin li+sin 1—6=E
5 13 65 2
n/2
Evaluate : J log cos xdx
0
. 2 dy
Solve : (1+x")—+y=tan  x
dx
. dy . :
Find I when (sin y)* = (cos x)’
1+a 1 1
Evaluate the determinant | 1  1+b 1
1 1 1+c¢

Evaluate : (i =3 +4k). [(27 ~Hx( +1€)}
Minimize Z =2x+y
subject to 5x+10y <50, x+y=1,y<4, x20,y=20.

In four throws, with a pair of dice what is the probability of
occurrence of doubllets twice at least ?



2

0

TARGET QUESTION BANK

ANSWER

5.

. (O 2.
. (C) 8.
13.
19.
25.
31.
37.
43.
49.
55.
61.
67.
73.
79.
85.
91.
97.

SECTION-A

(A) 3. (B) 4. (B) 5.
B) 9. (C) 10. (C) 11.
(B) 15. (B) 16. (B) 17.
*) 21. (A) 22. (B) 23.
(D) 27. (A) 28. (C) 29.
(B) 33. (B) 34. (C) 35.
(C) 39. (B) 40. (A) 41.
(B) 45. (A) 46. (D) 47.
(A) 51. (B) 52. (A) 53.
(B) 57. (C) 58. (B) 59.
(C) 63. (C) 64. (B) 65.
(A) 69. (A) 70. (A) 71
(B) 75. (C) 76. (C) 77.
(B) 81. (D) 82. (B) 83.
(B) 87. (B) 88. (C) 89.
(C) 93. (B) 94. (C) 95.
(B) 99. (A)100. (B)

SECTION-B

Pl=x-2y+2:-6=0

= 3x-06y+6z-18=0
Py=3x-6y+6:-2=0
a=3,b=-6,c=6; d=-18,d,=-2

© 6.
(A) 12.
(A) 18.
(A) 24.
(B) 30. (A)
(B) 36. (B)
(A) 42. (B)
(B) 48. (C)
(B) 54. (C)
(©) 60. (A)
(B) 66. (B)
(B) 72. (B)
(B) 78. (A)
(A) 84. (O
(B) 90. (A)
(B) 96. (B)

(B)
©
(A)
(A)

(A)
(B)
(B)
(D)
(A)
(A)
(A)
©
(A)
(A)
©
(A)
(B)
(B)
©

14.
20.
26.
32.
38.
44.
50.
56.
62.
68.
74.
80.
86.
92.
98.

: dy-d; | —2+18 | _|16
Distance = |\/u2+b2+02| = 9+36+36\ V81
lo[_16
=197 Unit; Ans.

Equation of the plane

X X z
—+=+2=1
a b ¢

lherea =2,b =3, c =-4]

£+l+i=1
2 3 4
6)c+4y+(—3z)=1
12
= O6x+4y-3z=1x12
6x + 4y — 3z = 12; Ans.
Hint : 2020 (A) Q. No. 22.

Mean of probability distribution = Xp;x;

=

13 3 1
= —+IX=+2X=+3x—-
Ox griXgraxg™oxg

12 3
LoZo1s.
g 2 ; Ans.
and b =27 + ] +3k

Given, G = i —j+k

a+b =3 +0j +4k

&

la+b1 =32 402 +42
= /970716 = V25 =5; Ans.

Hint : See 2020 (A) Q. No. 3.
Given, x cos y = sin (x +y)
Diff. w. r to x,

x(—sin y), d—y+cosy><1 =cos (x+y). 1+d_y
dx dx
—xsin yﬂ +cosy=cos(x+ y)+cos(x+ y).ﬂ
dx dx
cos(x+y) & + x.sin yﬂ =cosy—cos(x+y)
dx dx

%[cos (x+ y)+ xsiny] =cosy—cos (x+y)
x

dy _ cosy—cos(x+y)

dx Ans.

cos(x+ y)+xsiny ;

2x .1 2x
and z=sin 5
1—x2 1+x

Putting x = tan 6

_1 [ 2tan®
1-tan’0

Lety = tanl(

y = tan Jz tan_l(tanZG) =20 (1)

- (2)

and z = sin_l( 2tan® )

1+tan’@
= sin~'(sin20) = 20
dy
dz
x= \/1+t2

dx

_:l, 1 2 |: i(xn)znxn71:|
dr 2 14 dx
dx 1

i 14

y= 1-¢2

Ly=z

= =1; Ans.

~

. (@)

dy__ 1 X (=2t)
dt o\1-¢2

dy _ -t

i e (i)

From eq. (ii) + (i),

ﬂ —t
dr _N1-1*

dx

1442

dy _—1+1
A \/1_7 ; Ans.

~

=

10. Hint : See 2020 (A) Q. No. 25.
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11. Let G=5/+3j+4k and b=6{—8j—k
Let the angle between the vectors be 6.

ab
SO = = . (@
lallbl @
Now, db =5x6+3x(-8)+4x(-1)
=30-24-4
=30-28=2
and  ldl = 52432 +42 =25+ 9+16
= J50
b1 = /6% +(=8)2 +(~1)?
= 36+ 64+1=4/101
From eq (i),

2
c0s 8= 55 %101

2
_ o
6 = cos 50 xJ101 ; Ans.

12. Maximize z = 20x + 3y subject to 3x + 2y <210, x =0, y 0.
(0, 105)
B
0 A (70, 0)
(0,0)

at (0, 10, 5), z =20.0 + 3.105 = 315

Yy
70 105" - (D
at (70, 0), z = 20.70 + 3.0 = 1400
at (0,0),z=0
Maximize z = 1400, at (70, 0).; Ans.
13. xzd—y=2xy = ﬂ=2.Z
dx dx X

dy dx
= J —:2.‘[ -
y X

= logy=2logx= y=cx% Ans.

14. Given determinant
1 1 1
_|la b ¢
@ b
0 0 1
_|a-c b-c ¢
- -3 e

[applying C; —(C;—C3) and G, = (G, —G3)]

0 0 1
= (a-c)(b—-c). 1 1 c
a*+ac+c* br+be+c? B

21

[taking out (a — ¢) and (b — ¢) common from C; and C,]

1
— (a=c)y(b—-c).1. ) 2 2

a~+ac+c 2

+bc+c
[expanded by R,]

(a—c)(b—c).[(b* +bc+c?) —(a® +ac+ )]
= (a—c) (b—0)[(b> —a®) + (bc —ac)]

= (a—c)(b—0o)[(b* —a®)+(b—a)c]
=(a—c)(b-c)(b—a)(b+a+c)
= (a-b)(b-c)(c—a)(a+b+c); Ans.
15. LHS.=A%=AA
(2 2 —4][2 =2 «4
-1 3 4||-1 3 4
1 =2 =31 =2 =3

[4+2-4 —4-6+8
—2-3+4 249-8
| 2+2-3 —2-6+6

—-8—-8+12
4+12-12
-4-8+9

(2 2 —4
-1 3 4 = A; Proved
|1 =2 -3

/2
16. J X cos x dx
0

:-jﬂmhmw

= fl(x)J‘ fz(x)a'x—J‘ A fo(0) dx}dx+c

/2
- {xJ‘ cosdx—J 1{[ cosxdx}dx} +c
0

. . /2
= [xsmx - fsm xdeo

/2
0

(g+0]—(0+1)

/2 T
J xcosxdx=—-1; Ans.
0 2

= [xsinx+cosx]

17. Letl = J sin® xdx
_ 3s1nx—s1n3xdx
4
= l[—3cosx—_COS3x}+C
4 3

3 1
——cosx+-—cos3x+C -
4 D ; Ans.



22 TARGET QUESTION BANK

1
—_— dx
18. J\/x+1+ x+2

J‘ Nx+l—+x+2 dx
T ) a1 dx+2) x+1=Vx+2)

- J —m_mdx

(x+D)—=(x+2)

= J —m_mdx

x+l—-x-2

= —IJ Nx+1—+x+2dx

. D2 (x+2)2 .
B 3/2 3/2

-2
- ?[(x+1>3’2 —(x+2"%]+c: Ans.

19. Putting cos x = ¢, sin dx = — dt

J cos’ xsinxdx = —J Pt

-——+C
4

1
= —Zcos4x+C , Ans.

21
20. Let, —J ) dx
+4
2
x“+4-4-1
_J 5 dx
x“+4

_ J dx— dx
x“+4
— x——tan 1(§)+C’Ans
d)’7 X+y
21. dx
dy Xy J e j X
L =ecte —dy=| e'dx
= dx = ey y

= —y:J. (—e* +0)

= y=—J (C—-¢€) = J (C_lex),Ans.

22. 4 (cot'3 +cot2) = 1

We know that cot ' x+cot™! y= cot™! (xy — 1]
y+x
COt_l 3x2-1
4 243

5
4 cot™ (g)

T
4cot™h (1) =4 x 7

L.H.S.

= R.H.S. proved.
23. Lettan"'x = o and tan”ly = B

x=tan o and y =tan B

tano+tanf  x+y

o+B) = =
Now, tan ( B I-tanotanB  1—xy

_ -1 Xty
or OG+p=tan” ——

tan'x+tan~'y = tan~1 Y
an X an y =1tlan 1_xy ,prOVCd.

1

24. y= \sinx? = y=(SiIUCz)E

Diff. w r to x,
dy 1 -
@ _ —(sin x2) 2 cos x22x
dx 2
dy x.cos(x%)
ST T—— ,Ans.
dx sin x2
25. y =sin xy
Diff. w r to x,

d d .
E(y) = E(Sm (xy))

=x cos (xy) y' +y cos (xy)
= y' =xcos (xy) y' +y cos (xy)

| yeos(xy)
= ¥y = 1—x cos (xy)
dy __yeos (xy)

dx 1—xcos(xy) » ADS.

26. J (x+2)%dx = J(® +4x+4) dx

2+1 1+1 0+1

4.5 442

+4." +C
2+1 1+1 0+1




3 2 2
—+4—+4—+C
3 2 1

§x3 +2x2+4x+C;Ans,

27. Hint : See 2020 (A) Q. No. 27
28. Let y = x*i™
Taking log on both sides,

log y = log (x®"™)
= logy=sinx.logx
Diff. w r to x,
1 ﬂ—cosxlog)c+s1nxl
y dx X

dy [ sinx]
— —=y|cosx.logx+
dx

X

sinx

n
=X [cosx log x + —] Ans.
X

/2 1
J
0 1+./tan (n/2—x)

/2 1
Y
0 I++/cotx

/2
- j e
O 14

tan x
/2
tan x
Y CTER
0 l++/tanx

/2

= I+I=J 1.dx

0

= ¥2=21

T
="
= 2

a
30. JO

T
I==.
4,Ans.

2
[ a*—a® +—s1n 1(“]]—0
a
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31. Hint : See 2020 (A), Q. No. 28
32. Hint : See 2014 (A), Q. No. 46
33. Given diff. equation

(l+x ) +y-tan Ty

o dy 1 y_tanflx
I, =
dx 1+22 1+ %7

23

e

This is linear differential equation in the form of

dy
4 Py=
2 T ey )
tan™]
an x
Where P= 5 and 0= >
I+x I+x

J‘ dx
Now LF. = e'[ Pdx T

Solution of given differential equation

-1
-1 -1 tan” x
t t
y.et™ X_J L Sl NI

1+x°
= J. te'dt + ¢ [Put ¢ = tan 'x]
=cd@t-D+c

[by parts integrate]

-1
— etan x(tan_lx—1)+c

~1
= y=-l+tan v+ ¢ ¥

This is required solution

34. (sin y)* = (cosx)” [ logm" = nlogm]

= xlogsin y = ylogcos x
Diff. w.r. to u,

2 oe sin v+ log sin v -
de og sin y + log sin y dxx

4, ) 4y
=Y 4, 10gcos x+logcosx Y

X dy . sin x dy
= = cosy;+log siny=-y +logcosx—

sin 'y cosx dx

d d
— logsiny+ ytanx= logcosxd—y— xcoty—y

x dx
dy _logsiny+ ytanx

= dx logcosx — xcoty

dy _ ytanx+logsiny

dx logcosx—xcoty’ Ans.

35. Hint : See 2019 (A) Q. No.—32

36. (i =3 +4k).[ i - Hx(G+0)]
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38. Here,
1 -3 4
2 -1 0 n () = 36
o1 n(E)={(,1),(2,2),..(6,6)}=06
=1 (D+3Q)+4Q) pe =1
36 6
=-1+6+8
= 13; Ans. gz 2 x>0
37. 5x+10y=50, x+1=1 y=4 6
(10, 0), (0,5 (1,0, (0, 1) Px=2)+P(x=3)+Px=4)
2 2
s (1Y (5 1 25 150
=2)= "Gyl = | X| = | =6X—X—=——
Pe=2) 2(6] (6] 36736 1296
09 1Y (5 1 5 20
D 2,4 P :3 :4C — X| = |24 X —X —=——
0.4 € 50 24) =9 3(6] (6] 216736 129
4
P(x=4)=* C{l] 1
6) 1296
A
©.1) 150 20 1
c c P, = + +
(1,0) (10, 4) (=234 71296 1296 1296
Zeox 1 150+ 20 +1
= 129
Zy=1, Zy=2 Z.=20,Z,=4+4=8,7Z,=4
Z . =1at (0, 1); Ans. 1719
i = 1206 144> ADS:
aaaQ
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ENGLISH ( 31Usit ) — XII (100 Marks ) — 2024 (A)

Time : 3 Hours 15 Minutes

Full Marks : 100

Instructions to candidate : See previous Question

10.

11.

12.

13.

14.

15.

16.

SECTION-A (OBJECTIVE TYPE)

Question No. 1 to 100 have four options, out of which
only one is correct. You have to mark, your selected
option, on the OMR-Sheet. You have to attempt only 50

Questions. 50x1=50
Choose the correctly spelt word :

(A) Concent (B) Cunsent

(C) Consent (D) Counsent

They should not ...... upon the poor. (Choose the correct
phrase)

(A) look up (B) look down

(C) look after (D) look on

There is ....... university here.

(Choose the correct option)

(A) a (B) an

(C) the (D) no article

Rajesh is still shouting, ...... ?

(Choose the correct option)

(A) not he is (B) not is he

(C) wasn’t he (D) isn’t he

Choose the correct antonym of ‘Trivial’® :

(A) Rural (B) Important

(C) Loss (D) Artificial

This child is very ...... to me.

(Choose the correct option)

(A) deer (B) dear (C) dare (D) dearer
Ramesh is ..... and hearty.

(Choose the correct option)

(A) hale (B) hail (C) heal (D) head

Choose the correct sentence :

(A) Women were very seldom convict.

(B) His eyes had hardly close.

(C) Hardly had he settled into his seat when Radha
charged in.

(D) Hardly nobody came.

He said that he ....... be there.

(Choose the correct option)

(A) would (B) need (C) can

I have not heard of you ...... last week.

(Choose the correct option)

(A) since (B) in

There are seven days in a :

(Choose the correct option)

(A) weak (B) weaker (C) week

The police ....... the thief.

(Choose the correct option)

(A) arrest (B) arrested (C) arresting (D) has arrest

His progress satisfied me.

(Choose the correct passive voice)

(A) I was satisfying with his progress.

(B) I am satisty with his progress.

(C) I was satisfied with his progress.

(D) I have to be satisfy with his progress.

The engagement party was cancelled as ...... people were

against the marriage.

(Choose the correct option)

(D) want
(C) by (D) for

(D) seek

(A) some (B) the some
(©) little (D) the few
Ramesh has been absent ...... Friday.
(Choose the correct option)

(A) since (B) from

(C) for (D) by

Chicken and rice ...... my favourite dish.

(Choose the correct option)

17.

18.

19.

20.
21.
22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

(A) are (B) had
(©) is (D) have
Nadal won all the matches played in Paris.

(Choose the correct negative sentence)

(A) Nadal does not win all the matches played in Paris.
(B) Nadal did not lose a single match played in Paris.
(C) Nadal was not able to lose any match played in Paris.
(D) Nadal had lost any match not played in Paris.

He says to me, “You are my friend.”

(Choose the correct indirect narration)

(A) He tells me that I am his friend.

(B) He telling me that I will be his friend.

(C) He told me I am friend of his.

(D) He will tell me that I will be his friend.

Give me something to eat ...... I shall die of hunger.
(Choose the correct option)

(A) else (B) can (C) for (D) but

All his ...... is stolen. (Choose the correct option)

(A) luggages (B) beds (C) luggage (D) furnitures
I bought ...... a shirt. (Choose the correct option)

(A) itself (B) himself (C) herself (D) myself
She is very dull. She cannot pass.

(Choose the best combination)

(A) she is too dull to pass

(B) To pass is she too dull

(C) Dull is she too to pass

(D) Too dull is to pass she

Praveen does not ..... with Mohan.

(Choose the correct option)

(A) agreed (B) agree

(C) to agree (D) agreeing

We met a lot of people ...... our holidays.

(Choose the correct option)

(A) on (B) at (C) by
He cannot put ...... with such insult.
(Choose the correct option)

(A) of (B) up (C) down
Neither of the two men ..... done this.
(Choose the correct option)

(A) have (B) has (C) may
Choose the correct spelling :

(A) Risemblence (B) Resiemblience

(C) Resemblance (D) Risimblence

He said to Rita, “Am I ill ?”

(Choose the correct indirect speech)

(A) He says that he is ill to Rita.

(B) He will say to Rita that he is ill.

(C) He asked Rita if he was ill.

(D) He said to Rita if he is ill.

Find out the ....... things. (Choose the correct option)

(D) during

(D) from

(D) should

(A) discard (B) discarding

(C) will discard (D) discarded

Sri Lanka is ...... island. (Choose the correct option)
(A) a (B) an

(C) the (D) no article

We should think ...... this matter deeply.

(Choose the correct option)

(A) by (B) in (C) over (D) off

Choose the correct meaning of :
“To read between the lines”

(A) to understand the hidden meaning
(B) to learn quickly

(C) to laugh at

(D) to have good night

Choose the odd one out :
(A) School (B) University
(C) Office (D) College
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34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

51.

52,

53.

TARGET QUESTION BANK

....... shall I fear but the ones who hurt me?
(Choose the correct option)

(A) Whose (B) Whom (C) Who (D) Which
Choose the correct synonym of ‘Forbid’ :
(A) Allow (B) Prohibit

(C) Accomplish (D) Hold

The antonym of ‘Duplicate’ is :

(A) Copy (B) Original
(C) Clone (D) Photo
Choose the correct sentence :

(A) I did my work quick.

(B) I did my work every quick.

(C) I did my work quickly.

(D) I do my working quick.

I didn’t ...... where he was going.

(Choose the correct option)

(A) know (B) knew

(C) knowing (D) will know
If you invite me, I ....... certainly come.
(Choose the correct answer)

(A) could (B) would

(C) might (D) would have
Choose the mis-spelt word :

(A) Campaign

(C) Secretry

Choose the mis-spelt word :
(A) Harmaeni (B) Harmony

(C) Harmany (D) Harmeny

Choose the correct one word substitution of “Ceremony
of crowning a king”.
(A) Coquette

(B) Controversy
(D) Decision

(B) Demagogue

(C) Coronation (D) Deprecate

Do what you want to do, ........ don’t disturb me.
(Choose the correct option)

(A) though (B) that (C) but (D) so
It was not a ........ act at all.

(Choose the correct option)

(A) pardon (B) pardoning

(C) pardoned

Choose the odd one out :
(A) Pen (B) Marker (C) Paper (D) Pencil
You never have bread and butter for breakfast, ..... ?
(Choose the correct option)

(A) have you (B) do you

(C) don’t they (D) do they

Choose the correct meaning of : “Out of question”.
(A) Undesirable (B) Impossible

(C) Unpleasant (D) Irresistible

Their idea of a holiday ........ at a resort.

(Choose the correct option)

(A) is relaxed (B) is to relaxing

(C) is to relax (D) is relaxing

They decided ....... the white car.
(Choose the correct option)

(A) about (B) on (C) in
My cycle did not ....... brakes.
(Choose the correct option)

(A) has (B) have (C) had
It is time for the bell to be rung.
(Choose the correct active voice)

(A) It will be time to ring the bell.

(B) Time will be when she bell rings.
(C) It is time to ring the bell.

(D) Rings the bell in time.

He blamed ...... for the ugly situation.
(Choose the correct option)

(A) himself (B) yourself
(C) themselves (D) itself

We ...... be quiet in the library.
(Choose the correct option)

(D) pardonable

(D) of

(D) did has

54.

5S.

56.

57.

58.
59.

60.

a

(A) mustn’t (B) doesn’t have to
(C) doesn’t (D) must

I would have done a better job ...... he did.
(Choose the correct option)

(A) than (B) then (C) that (D) there
Akbar was ....... noblest king.

(Choose the correct option)

(A) a (B) an

(C) the (D) no article

Moti always ........ chappatis in his dinner.
(Choose the correct answer)

(A) eat (B) eats (C) eating (D) eaten
Choose the correct sentence :

(A) He prevented me from going there
(B) He prevented me to go there

(C) He prevents me at going there

(D) He preventing me through going there

He ...... not be there. (Choose the correct option)
(A) is (B) shall (C) need (D) must
....... the grass.

(Choose the correct option)

(A) Keep off (B) Keep on

(C) Keep up (D) Keep away

....... chair is required.

(Choose the correct option)

(A) More (B) Much

(C) Many (D) An extra

Instruction : Questions from 61 to 100 are based on the

prescribed texts.

61.

62.

63.
64.
65.

66.

67.

68.

69.

70.

71.

72.

73.

‘Our ancestors, therefore, set a limit to our ...... ?

(A) land (B) indulgences

(C) towns (D) grains

“I pledge my loyalty to my country, irrespective of

religion or language
quotation taken ?
(A) Zakir Hussain (B) Pearl S. Buck

(C) Mahatma Gandhi (D) Anton P. Chekhov
Nanukaka went to visit the ..... Minister.

(A) Finance  (B) Welfare (C) Railway (D) Home
Leep, the dog, was bought for ..... rubles.

(A) 115 (B) 65 (©) 85 D) 75
Pearl S. Buck was interested in meeting the :

(A) leaders (B) saint

(C) peasants (D) Americans

...... ” From whose piece is this

At first Benjy kept ...... hens.

(A) 10 or a dozen B) 20

(©) 30 (D) 40

The ...... would not be satisfied until justice rolled down
like water.

(A) Americans (B) Negroes
(C) Europeans (D) Indians

Bertrand Russell belonged to :

(A) Ireland (B) Iceland

(C) Britain (D) Germany
...... stops and hinders our progress.

(A) Education (B) Poverty

(C) Class (D) Politics
......... was twelve years old and still at primary school.
(A) Seibei (B) Seibei’s friend

(C) Seibei’s sister (D) Seibei’s cousin
Donne compares his journey of life to that of the :
(A) Stars (B) Sun (C) Planets (D) Moon
‘Thou watchest the last oozings hours by hours.” It is
from :

(A) An Epitaph (B) The Soldier

(C) Ode to Autumn (D) Song of Myself
“Travellers in their last distress” is from :

(A) Now the Leaves are Falling Fast

(B) An Epitaph

(C) Ode to Autumn

(D) The Soldier



74.
75.

76.

77.

78.

79.
80.

81.

82.

83.

84.
85.

86.
87.

88.

89.

90.

91.

92.

93.

9.
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The Soldier is a/an :

(A) sonnet (B) ballad (C) epic (D) lyric
Autumn is a season of :
(A) fruitfulness (B) no fire

(C) no rain (D) no leaves

“And when I crumble, who will remember”’—is from :
(A) Ode to Autumn (B) An Epitaph

(C) Song of Myself (D) The Soldier

In ‘Fire-Hymn’, Daruwalla talks about a :

(A) burning clothes (B) burning house

(C) burning forest (D) burning ghat

“And his footprints are not found in any file of Scotland
Yard.” It is from :
(A) The Soldier
(C) Ode to Autumn
(D) Macavity : The Mystery Cat

The grandmother’s house fell ....... after her death.

(A) crazy (B) noisy  (C) silent (D) chaotic
‘He drank enough, And lifted his head, dreamily, as one
who has drunken’—is from :

(A) Snake

(B) My Grandmother’s House

(C) The Soldier

(D) An Epitaph

(B) Fire-Hymn

The Anglo-Saxons invaded ....... in AD 449.
(A) Britain (B) Thailand
(C) America (D) Japan

Wycliff and Langland are writers of the ....... period.
(A) Old English (B) Middle English

(C) Modern English(D) Post-modern English
Macavity is said to be mysterious because :

(A) the Scotland Yard is baffled by him

(B) he has a hidden paw

(C) no one understands his ways

(D) he has hidden powers

Attic civilization belongs to :

(A) India (B) Greece (C) Rome (D) China
“The past is not dead and static, it is alive and .....,
(A) pledge (B) ethnic

(C) dynamic (D) presumptuous
“Nanukaka opened his silver snuffbox and took a .....
(A) coat (B) kurta (C) pinch (D) pitch
Martin Luther King, Jr. wanted the Negroes to continue
working with :

(A) hatred (B) jealousy (C) love (D) faith
“The last of the great prehistoric inventions was the art

(A) fighting  (B) cooking (C) writing (D) hunting
“The editorial policy of a daily paper is controlled by
....... chief factors.”

(A) four (B) two (C) three (D) five
Pearl S. Buck ate her food ....... in an Indian village.
(A) with ladle (B) with her hands

(C) with fork and spoon (D) with chop sticks

“That thou lov’st me, as thou say’st,” is from :

(A) Snake (B) An Epitaph

(C) Song of Myself

(D) Sweetst Love, I Do Not Goe

“In a series of memorable pictures, John Keats, exhibits
the principle of ...... in nature.”

(A) scarcity (B) beauty

(C) maturity (D) immaturity

The praises and images of ...... run throughout the poem
“The Soldier”.

(A) India (B) England (C) France (D) America
‘How often I think of going there, to peer through blind
eyes of windows”. It is from :

(A) My Grandmother’s House

(B) An Epitaph

(C) Song of Myself

(D) Snake

9s.

96.

97.

98.

99.

Who wrote “..... for every atom belonging to me as good
belongs to you’?

(A) Rupert Brooke (B) Walt Whitman

(C) John Donne (D) Water de la Mare
‘Hoping to cease not till death.”—is from :

(A) The Fire-Hymn

(B) The Soldier

(C) Song of Myself

(D) My Grandmother’s House

The English period is generally considered to be
from AD 1150-1500.

(A) O1d (B) Middle

(C) Modern (D) Post-modern

Latin and ....... were the two major influences on Old
English.

(A) Greek (B) French

(C) Scandinavian (D) Indian

The Anglo-Indian community in India use ........ as their
mother-tongue.

(A) Urdu (B) Parsi

(C) English (D) Hindi

100. Who wrote ‘She Stoops to Conquer’?

1.

(A) G B. Shaw (B) T. S. Eliot
(C) Salman Rushdie (D) Oliver Goldsmith

SECTION-B (DESCRIPTIVE TYPE)

Write an essay on any one of the following in about

150-200 words : 1x8=8

(a) Value of Education

(b) Chandrayaan 3

(¢) An Indian Festival

(d) Wonders of Science

(e) Noise Pollution

Explain any one of the following : 1x4=4

(a) ‘A certain degree of physical harmony and comfort is

necessary, but above a certain level it becomes a

hindrance instead of help.’

‘Fancy a lad spending his time playing around like that

with gourds!...’

‘In non-technocratic societies, except for remarkable

accidents, birth is always attended.’

My life has been too crowded with travels and many

people for me to put it all within the covers of one

book, ....”

Explain any one of the following :

(a) ‘He hath no desire, nor sense,

Nor halfe so short a way;

Then feare not mee,’

Cold, impossible, ahead

Lists the mountain’s lovely head.

“You may meet him a by-street, you may see him in the

square—

But when a crime’s discovered, then macavity’s not

there.’

(d) ‘And yet those voices :

If you were not afraid, you would kill him !’
Write a letter to your friend, congratulating him for his
success in the Secondary Examination.
Or,

Write an application to your Headmistress asking for sick

leave as you are suffering from typhoid.

Answer any five of the following in about 40-50 words:
5x2=10

(a) What does Pearl S. Buck mean by saying ‘Religion is

ever present in Indian life’?

(b) What did the doctor advise Benjy’s parents to ensure

(©)

(d)

(b)
(©
(d)

1x4=4

(b)
(©)

his mental growth ?

What do you mean by the term ‘free press’?

How are the children of the joint family in Bangladesh
looked after ?
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(e) Is the speaker in ‘The Soldier’ afraid of death?

(f) Why did the speaker like the snake?

(g) How are autumn and summer related to spring?

(h) Name three areas of English language in which rapid
changes have been noticed in the last few decades.

(i) What has made English ‘The most gloriously, empire

language?
() What did the 18th century grammarians share with the
Age?
6. Answer any three of the following in about 100-120
words: 3x5=15
(a) Write the summary of any one of the following
poems:

(i) Sweetest Love, I Do not Goe
(i1)) The Soldier
(iii) Now the Leaves are Falling Fast
(b) Write the summary of any one of the following
prose-pieces:
(1) A Child is Born
(ii) Ideas That Have Helped Mankind
(iii) I Have a Dream
(c) Write a note on the Indian English.
OR,
Write a note on English as a world language.
OR,
Write a note on Modern English.
(d) Match the names of the poems given in List-A with
their poets in List-B.
List-A
(i) The Soldier
(i1)) To Autumn (b) Rupert Brooke
(iii) Snake (¢) K. N. Daruwala
(iv) My Grandmother’s House (d) D. H. Lawrence
(v) Fire-Hymn (e) Kamala Das
(e) Translate any five into English :
(i) & @ TH She § UM ©
(i) B8 = F o 2
(iii) R T TF G FeH 2
(iv) ST HeTe TER 1 e w2
(v) TR *1 9f sueTs 2
(vi) S9! f¥reren] @1 SR T =T
(vii) T8 g1 H T HER Hdl 2
(viii) 1 FHA g9 GAD o TN S 2
(f) Match the names of the prose pieces in List-A with
their authors in List-B.
List-A
(i) Bharat is My Home (a) Dorothy L. Sayers
(i1)) A Pinch of Snuff (b) Dr. Zakir Hussain
(iii) How Free is the Press(c) H.E. Bates
(iv) The Artist (d) Manohar Malgaonkar
(v) The Earth (e) Shiga Naova
7. Read the passage and answer the questions that follow:
4x1=4
Anita was enthusiastic about protecting the environment.
She decided to initiate a campaign to raise awareness about the
importance of recycling. Anita started by giving presentations at
her school, educating her classmates about the need for a clean
environment. She also created posters with catchy slogans and
placed them around the community. The campaign gained
momentum, and more people joined Anita’s cause. Soon,
Anita’s efforts were recognized by local authroities and they
implemented recycling programmes in the community. Anita felt
proud of her contribution towards a greener and cleaner world.
Questions :
(a) What cause was Anita enthusiastic about ?
(b) Where did Anita start her campaign ?
(c) How did Anita raise awareness about recycling ?
(d) What impact did Anita’s campaign have on the
community ?

List-B
(a) John Keats

List-B

OR,

Write a precis of the following passage, and give a

suitable title:

Humans first appeared on earth a million and a half years
ago. He was a little more than an animal then. Still, early
humans had some advantages over animals. He had a large
brain, an erect body with fast-moving hands. He invented a
language to communicate with his colleagues. The ability to
speak was of the highest value because it allowed them to share
ideas and plans together. Speech enabled the transmission of
ideas from generation to generation. These special advantages
put humans far ahead of all other living creatures.

ANSWER
SECTION - A
1. (© 2. B 3. A 4. (D) 5 @B
6. B) 7. (A 8. (© 9. A 10. (A
11. (C) 12. (B) 13. (C) 14. (A) 15. (A)
16. (C) 17. (B) 18. (A) 19. (A) 20. (O
21. (D) 22. (A) 23. B) 24. (D) 25. (B)
26. B) 27. (O 28. (C) 29. (O) 30. (B)
31. (CO) 32. (A 33. (C) 34. (B,C) 35. (B)
36. B) 37. (O 38. (A) 39. B) 40. (O
41. (ACD)42. (O 43. (C) 44. (D) 45. (O
46. (A) 47. (B) 48. (C) 49. (B) 50. (B)
51. (C) 52. (A) 53. (D) 54. (A) 55. (O
56. (B) 57. (A) 58. (C) 59. (A) 60. (D)
61. (B) 62. (A) 63. B) 64. (C) 65. (O
66. (A) 67. (B) 68. (C) 69. B) 70. (A
71. B) 72. (C) 73. (A) 74. (A) 75. (A)
76. B) 77. (D) 78. (D) 79. (C) 80. (A)
81. (A) 82. (B) 83. (A) 84. B) 85. (O
86. (C) 87. (D) 88. (C) 89. B) 90. (B)
91. ) 92. (B) 93. B) 94. (A) 95. (B)
96. (C) 97. (B) 98. (C) 99. (O 100.(D)
SECTION - B
1. (a) Value of Education

Education holds immense value in shaping individuals and
societies. It serves as a cornerstone for personal growth and
societal progress. Firstly, education empowers individuals with
knowledge and skills, opening doors to various opportunities. It
enhances  critical  thinking, a  problem-solving and
communication skills, essential for navigating the complexities
of life.

Moreover, education fosters social development by
promoting values such as tolerance, respect and cooperation. It
plays a pivotal role in creating informed and responsible citizens
who contribute positively to their communities. Education is a
catalyst for social mobility, breaking the chains of poverty and
inequality.

On an economic level, a well-educated populace drives
innovation and economic prosperity. It equips individuals with
the expertise required for a rapidly evolving job market,
enhancing their employability and contributing to overall
economic growth.

Furthermore, education promotes cultural understanding
and global cooperation. It bridges gaps between different
cultures, fostering a sense of unity and shared humanity. In a
world interconnected by technology, education becomes a tool
for building bridges, rather than walls.

In conclusion, the value of education extends for beyond
individual achievements. It is the key to personal fulfillment,
societal advancement, economic prosperity and global harmony.
Investing in education is an investment in a brighter and more
equitable future for individuals and the world at large.
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(b) Chandrayaan-3

Chandrayaan-3, India’s ambitious lunar exploration
mission, marks significant step in the country’s space
exploration endeavors. Building upon the success of its
predecessors, Chandrayaan-1 and Chandrayaan-2, this mission
aims to further explore the mysteries of the Moon.

Chandrayaan-3 focuses on achieving a successful soft
landing on the lunar surface, demonstrating India’s growing
prowess in space technology. It is designed to carry advanced
instruments, including a lander and a rover, to conduct scientific
experiments and enhance our understanding of the Moons
geology.

The mission holds scientific importance as it aims to
analyze the lunar surface, study the Moons mineral composition
and gather valuable data that can contribute to our
understanding of the Moons history and evolution.
Chasndrayaan-3’s success would also strengthen India’s position
in the global space community.

Additionally, the mission has technological significance,
showcasing India’s capabilities in space exploration and
engineering. It highlights the country’s commitment to pushing
the boundaries of space science and fostering innovation in
space technology.

Chandrayaan-3 exemplifies the spirit of exploration and
scientific curiosity, contributing not only to India’s space
achievements but also to the global quest for knowledge beyond
Earth. As the mission unfolds, it holds the promise of unraveling
more secrets of the Moon and adding to humanity’s broader
understanding of the cosmos.

(¢) Hint : See 2009, Q. No. 8 (c).

(d) Wonder of Science

The wonders of science are evident in every aspect of our
daily lives transforming the world and shaping the way we
perceive and interact with it. From advancements in medicine
that enhance our well-being to technological innovations that
connect the global community, science has been a driving force
of progress.

One marvel of science is medical breakthroughs,
revolutionizing health care and saving countless lives. Vaccines,
antibiotics, and diagnostic tools have become indispensable in
the fight against diseases. Science has provided solutions to
once-incurable ailments, offering hope and improved quality of
life.

Technological wonders, from smartphones to artificial
intelligence, have reshaped the way we communicate, work and
access information. The internet, a pinnacle of scientific
innovation, has connected people worldwide, fostering
collaboration and sharing knowledge at an unprecedented scale.

Environmental science has become crucial in addressing
pressing issues like climate change and pollution. Scientists
work tirelessly to develop sustainable solutions, harnessing
renewable energy sources and creating technologies to mitigate
the impact of human activities on the planet.

Space exploration, another marvel of science, expands our
understanding of the universe. Scientific discoveries beyond
Earth provide insights into the origins of our solar system and
the potential for life beyond our planet.

In essence, the wonders of science permeate every facet of
our existence, offering solutions to challenges and unlocking the
mysteries of the universe. The continuous pursuit of knowledge
through scientific inquiry not only enhances our lives but also
propels humanity into a future shaped by innovation and
discovery.

(e) Hint : See 2022 (A) Q. No. 1 (¢).

2. (a) These lines have been taken from our most reading
lesson in prose section ‘Indian Civilization and Culture’
which has been beautifully written in a well decorated
manner about Indian living-hood.

In these lines, the author has told about human physical

3.

harmony and comfort. He tells that proper use of hands
and feet can keep our health better if we use machinery
or other sources of help more than proper it becomes
hindrance for our physical and mental habits.

(b) This extract has been taken from our most interesting

(c)

lesson in prose section ‘The Artist” which has been
written by H.E. Bates. In the lesson the author describes
the habit of a boy named Seibei who has an unusual
habit on Gourds. Since the boy has a mind of an artist
so he has such an interest rather than study.

In the lesson Seibei’s father is so irritated for such
interest and he tells his son’s activities to one of his
friends who has come to attend him. He tells that all the
time Seibei is engrossed on Gourds rather than playing
or study.

This extract has been taken from our most remarkable
lesson in prose section ‘A Child is Born’, who has been
interestedly written by Germaine Greer. This lesson
deals about child-birth system in all the country. She has
expressed views on it.

She tells that the women living in society which is not
developed well with technology their child-births are
looked after by all the members of whole family rather
than expensive hospitals. In some rare cases there
happen the accidents in which they have to go through
the sparkling hospitals.

(d) This line has been taken from the lesson ‘India Through

A Travellers’ Eyes’ written by Pearl S. Buck. It is about
her visit to India a traveller and the impressions she
gathered about it. According to Pearl S. Buck, her life
is full of travels. When she visited to India, she met
several kinds of people. Her life is full of so many
people that it is not possible to put them within the
covers of one book. It means she met a large number of
people in India and listened to them. She knew their
future plan.

(a) This stanza has been taken from our most remembered

lesson in poetry section ‘Sweetest Love I do not goe’
which has been written by John Donne in a new kind of
lyrical and satirical verse. In this poem the poet moans
like a lover to his beloved and expressing his love for
her.

He says that he loves his beloved so much and he does
not have any other desire or sense rather than his
beloved. His compares his love with sun and he weights
his love more than sun and tells he has no fear of
anything in his life.

(b) Hint : See 2021 A, Q. No. 3 (b).

(c)

The present stanza has been taken from our most
interesting poem ‘Macavity : The Mystery Cat’ which
has been written by Thomas Stearns Eliot in so
decorative style. He has given a full account of his pet
cat named ‘Macavity’ and expressed his activities in his
poem.

The poet tells that he has a mind of human; extra
ordinary thinking like any animals. His action is such
strange that no one can claim that these crimes have
been done by Macavity because if the crime is
discovered no one could see him right on the spot. He
can be seen in any other places but not right on the spot.

(d) This extract has been taken from the poem ‘Snake’

written by D. H. Lawrence. Here, in this poem, the poet
is narrating an ordinary experience of finding a snake
drinking water in his backyard. When the poet saw a
snake who came to drink water, he was fascinated by it.
He did not want to kill him.

Nature in him prevented him from killing it. But, his
inner vokes, representing common belief provoking him
says that he became afraid of the snake otherwise he
would have killed it.
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Examination Hall
05 January, 2024

I hope this letter finds you well. I wanted to extend my
heatfelt congratulations on your outstanding success in the
secondary examination! Your hard work and dedication
have truly paid off and I couldn’t be happier for you. This
achievement is a testament to your intelligence and
perseverance.

I know the journey wasn’t easy, but your determination
and commitment have shone through. You success not only
reflects your academic prowess but also your resilience in
the face of challenges. I have no doubt that you will
continue to excel in your future endeavors.

Once again, congratulations on this well-deserved
achievement. I look forward to witnessing your continued
success and celebrating many more milestones together.
Best wishes,

Address :

Dear Shantnu

Your friend
Anand

OR,

To,

The Headmistress

HPD Jain School, Ara
Subject : Prayer for sick leave
Through : The class teacher
Ma’am,

I am Vinay Kumar studying in class X. I am writing to
inform you that unfortunately, I have been diagnosed with
typhoid fever and the doctor has advised me to take a
period of rest for recovery.

Due to my health condition. I am unable to attend
classes and actively participate in school activities.
Therefore, I kindly request your permission to grant me sick
leave starting from 06.02.2024 to 12.02.2024. I have
attached to the medical certificate along with this
application for your reference.

I shall ever be obliged to you for this kind act.

Your faithful

Vinay Kumar

Class — X ‘A

Roll - 02

(a) The author wanted to express her idea about the role of
the religion in Indian life. She cited the example of this
fact by narrating whatever she experienced in one
Indian family. While she was sitting in her host’s room,
one gentleman came in and without speaking to them
moved to the far end of the room. There he knelt his
head bowed and remained in that way for about a
quarter of an hour. Her hostess explained that he was
her husband’s eldest brother and was offering prayer.
She meant to say that religion was present in every walk
of the life of an Indian. It had both the best and the
worst aspects. But she did not criticize it.

(b) The doctor had advised them that Benjy needed interest
that would strenthen his mind. It would be good if they
gave him something to do, some occupation which
helps his development.

(c) We usually mean freedom of the press in a very
technical and restricted sense namely freedom from
direction or censorship by the government. In this
respect the British press is under ordinary conditions,
singularly free.

(d) In Bangladesh, children under the age of five or six are
looked after by the whole family. All the children of the
joint family are looked after together. They are taken to
the pond for a bath perhaps by one daughter-in-law, and
six bathes them all. Then they all came in and sit down
to eat.

Date : 05.02.2024

(e) No, the speaker is not afraid of death. He would be
given a corner of the foreign field.

(f) He liked the snake because it had come like a guest. It
had drunk water quietly, and departed peacefully after
drinking to its satisfaction.

(g) Hint : See 2021 A, Q. No. 5(b).

(h) English is a younger language in comparison to any
other language. But there have been seen many rapid
developments in English Language this is the reason
that English has become a world language. Main three
changes are as following :

(i) English Grammar

(ii) Spelling

(iii) Pronunciation
Removing all difficulties from English some codes for
uses of proper words and cases, Greet Vowel Shift for
spelling and pronunciation were made on time being
many changes were put in it. It was made standard
language to be understood and easy to be expressed our
all types of feelings and emotions and this language
development with a great speed.

(i) There are many reasons which have made English the
most gloriously as rapid improvements were made into
it. The rules and codes of Grammar, Spelling and
Pronunciation were made. The main reason for English
to be the most gloriously language was that many
vocabularies were borrowed from many European
Languages such as Latin, Spanish, Italian and French.

(j) The 18th century grammarians shared the spirit of the
Age to establish order in English language. They saw a
chaotic (confused) period of expansion and experiment
of English language.

(a) (i) Hint : See 2011, Q. No. 13 (d).
(ii) Hint : See 2009, Q. No. 14 (c¢).
(ili) Hint : See 2013, Q. No. 12 (d).
(b) (i) Hint : See 2009, Q. No. 17 (b).
(i) Hint : See 2013, Q. No. 15 (b).
(iii) Hint : See 2009, Q. No. 17 (d).

(c) Hint : See 2011, Q. No. 19.

OR,
Hint : See 2010, Q. No. 20.

OR,
Hint : See 2010, Q. No. 19.

(d) ()—(b), (i)—(a), (ii)—(d), (iv)—(e), (v)—(c).

(e) (i) They teach in a school.

(ii) It is 1’0 clock by my watch.
(iii) I have a beautiful pen.
(iv) People respect Mahatma Gandhi.
(v) The land of Bihar is fertile.
(vi) You should respect teachers.
(vii) She helps me at study.
(viii) Will you go to Sunita tomorrow?

(f) ()—(b), (i)—(d), (i)—(a), (iv)—(e), (v)—(c).

(a) Anita was enthusiastic about protecting the
environment.

(b) Anita started her campaign at school.

(c) Anita raise awareness about recycling by giving
presentations, educating her classmates and creating
posters with catchy slogans.

(d) Anita’s campaign were recognized by the community
and they implemented recycling programmes in the
community.

Or,
Title : The importance of Language
The invention of language provided humans the ability to

speak which is the highest value to allow them to share ideas
and planes and enabled the transmission of ideas from
generation to generation.

[Total words : 90; Precised words : 30]
HEE
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“ARar’ v H uSd T § ?

(A) IR B) fa

(C) @t (D)
femar’ sreg ¥ U W 2

(A) = (B) s

(C) am (D)
“gefa’ v1eg T fargraor =@ € ?

(A) W& (B) et

(C) U (D) dfe=
‘gom’ vreg o1 fegreoT =T 2 2

(A) Wi (B) W™

(C) e (D) o
‘e’ wreg w1 faviwor @@ R 2

(A) TSR (B) =it

(C) f=m (D) fsita
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98.

99.

TARGET QUESTION BANK

‘TR 7 e ATGHT N TET & TG, Ffoch STt gedl |
& &-form o T ITRIOT § ?

(A) T (B) fag am=
(C) "1 o (D) 3ET=eh =T
Frafefaa o g 9= &F € 2

(A) T T a9 dF IAHT T S |

(B) T€ M 39 W R T € |

(C) TIeT &1 g 91 IR U i @i H YA @I o |
(D) W foau 31 a% &R T enad |

100. ‘S&T 7Rt SIST EIM NS ORI &'-30@ are | i

1.

2.

3.

4.

UEET § ?
(A) |1 UEEY (B) HeAM UREY
(C) formo weag (D) f&w weag

@ g - o (fauafts a97)

frefafaa o @ fedt e favg w freig foe @ 1x8=8
(i) Te-fmfor o A/ (i) T SeH
(iii) SSHTRY (iv) B SR STEITEA
(v) =9 WRd SFH (vi) Hifeed @R |
Frafafaa o ¥ fw=l < ol &l |yET Sren W
2x4=8
(i) **7 ST ey ugpedl W oft o SR uferi o oft | fohg wyged
AR uferl 4 e weret W e qweEr @l e |
Aferd, T &t WG W I8 G 39 9 39 g T |
(i) ‘ST F® waR A A S @l €, T8 Sewia & SN
g TR e kel Tgar € 1
(iii) ‘<M, "9 TEH, FH, TelH, o= g |
TH W W IR T Y- - FewE |
(iv) “dgq @ ¥ fama ot A
ol el SR wifd T 7
IE WA T W HpA
T g f wif T 20
3TUN MRS oF U= o UTH Ueh 3MTaeq-ua ford,
Tore @t T G SUSTS R T U TR & & o
1x5=5

Agar
A faeme™ ® wA T ‘feew feaw’ @ auie wRe gu
i & e um fed )
frefafaa wot & @ felf sl & ST S 5x2=10
(i) T e TIeA Sierdl &1, 7a ok SHoh STk ol Shid-§l
ue ehe &l Bl € ?
(i) ‘ST wEl o’ vt wEr fRH YRR H HErl € 2
(iii) SATTE eliehas 3R WremE | el FeE € 2
(iv) I8 7 3T | N el 2 ' ARIvaR’ v feE o TR
for |
(v) S 3R Ao o Haw w1 afad OS sftde e o
MR W < |
(vi) wrd T o sTquRr foenfe=i 1 worifa & 9 =& o
=fen ?
(vii) qerdl, @ar ¥ S gerFa G € ?
(viii) ‘e i e & @ awed € ?
(ix) TSt =7 e quor 4 GRS 9 #&b oa
(x) FarEh & fae’ w2 2

5. Tefafea & @ forgl o o9t o ST < :

3x5=15

(i) o1 o YoM hfod w1 wrened fore |

(i) ‘T HIcTed wee H' IMUw Hfaar &1 dmenet fag |

(i) G951 FAN dRE I WA ‘g fEEm @ 9w
forg |

(iv) oe fag =1 uf=a o1 sl |

(v) Toremer & or@ & @ SE s vt €2 CSed’ o
SHBAT o MR R g

(vi) ‘Tl =t @i’ sider wenisht o1 " ford|

6. Trafafaa sraavon ¥ ¥ fodt ww @ deuor g |

1x4=4
(i) A ok feTw ek ererora e srafkferd =m e €1 =l o=
& WA 9 foeng o foer & orewen 37id U 81 98
TR WEhta &1 vewH B, 59 fova o wyg e o san
TMeg-fifer d &1 78l 9eel Sfa = g=ed el off o e
& = W faemE) w1 foer g on eR-oR <w o
ST -Te Y eI g2l 6T gt e 3 3w H
fafgeq fafer wem =emen &1 T w1, TR W
STAiRdet § 3aet sihe Tl TR @ ot 9% =
oL oA o SR e o ufd ST ST Wi e
S ol
(i) forelt ot Tee =1 wfq & SSier wifed oA aren Enfee
& 21 wifee w5t wew w R fava 3 faeet w@iem
2| Hifecd THIS 1 Y01 Bl 81 b W9 THS h1 Heq
e & fom &1 =1 1 Tdt, il 99 & @
fe@M o, SHSl HNieYie @ifee & Bl oFe fagml
q u® wier fea 2 fo afed o fo ama &1 Siem
AW T WL Wfed H1 1T Heh fou sTavash
21 59 yFR oM TER Wi SEed w g
2 % I YHR Uifecd BN WHGE STEvIERAE i
ofd e R

IAHTAT (ANSWER)

gue - A

1.(C) 2.(C) 3.(B) 4.(B) 5. (A 6. ()
7.8) 8.(B) 9.() 10. B) 11. (D) 12. (C)
13. (D) 14.(C) 15. (B) 16. D) 17. D) 18. (A)
19. (C) 20.(B) 21. (C) 22. (B) 23.(A) 24. (D)
25. (A) 26.(C) 27. (D) 28. (D) 29. (B) 30.(C)
31. (C) 32.(C) 33.(B) 34.(A) 35. (A) 36.(C)
37.(C) 38.(D) 39. (A) 40. (A) 41. (D) 42. (C)
43. (B) 44.(A) 45. (D) 46. (A) 47. (B) 48. (C)
49. (A) 50.(D) 51. (D) 52. (C) 53.(A) 54. (C)
55.(C) 56.(A) 57.(C) 58. (D) 59.(C) 60. (C)
61. (A) 62.(D) 63.(C) 64. (B) 65. (A) 66. (B)
67. (B) 68.(C) 69.(A) 70. (B) 71. (C) 72. (A)
73. (B) 74.(A) 75. (A) 76. (D) 77. (D) 78. (C)
79. (C) 80.(D) 81. (B) 82. (C) 83.(C) 84.(A)
85. (C) 86.(D) 87.(C) 88. (B) 89. (D) 90. (A)
91. (C) 92.(B) 93. (C) 94. (A) 95.(C) 96. (A)
97. (B) 98.(C) 99. (C) 100. (A)
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1. (i) Te-frmtor e T

T fmfor iR TR % e Tew Wy ¥ R 9E @ ga
MER B T 3R SHF ANEH & fa fRet off wu W fereed
gg T 21 U fmo § off A @ weeyl dveE g 2
Tt o forferd, gem iR T 81 W € T GgG TS ki Tol
Bl Tehdl €1 R 1 WeHal il §M o foly GAS H STk gHeA,
fren @ik wefSe THEar & fGen ¥ %W S %l Se B

A o e @ wu o wyfg SR faw e €1 ek THH
SRR, FATIAT & SMER T HH F H1 sl 3 G § SHHRT
ikt i e 3 @ € g Fwin § whomn ferdt @1 gdfag
T o GIfeReRToT 31 THIS & 3Hh IS i TewIqul HHAT T

TS ¥ A o T IR THHQ % Wemd ¥ @ Tk Ao
AR TR T w1 (I B Wehdl €1 SEeTY, R W WIHITS,
afefer iR UsHifaes 9eF WeH Rl STedd SevEs B

(i) W : 2018 (A) & U¥H-1 T SW 3G |

(iii) FeRd : 2011 (A) & W¥H-3 (1) 1 SW <G |

(iv) @aha : 2017 (A) & T¥H-1 (v) T SW G |

(v) HeRd : 2020 (A) o -1 (iv) T SW G |

(vi) TTfe 2iv wurs

et THIS 1 3T SR foramemy &1 wfafae e €, St 9ot
o fafu= qecjsii 1 wehe il B1 Wifge IR Wl TH-TE
goferd sed &1 fepelt off Tng = Sifa & @Sttt o 9w aren
Tifeca & 71 Wifecd &1 Hew 1 R fava 7 whar fwan ¢ afea
S 1 YU BT €1 Uk WA GHS i hoddl Wieed o o
&l T I Hehdl, iR THS & e K@ e, ST Whiesit
Hifecr & 21 e fagHl 3 g8 w@her fea @ fF e & fam
Wﬁ@ﬁa’—la‘{ﬂ%l zgfeTt Wifecd &1 AEqIT Taeh foalu sTavas®
21 59 YR oo et IR el 1 gfd e © S s
TR Hifed TAR AHTGE Aavaswdis &1 qfd w3 g e o
e @ @A o fafe= ot oIk guerEl & o gewl s gnee
4 Heg fHerdl B e HIEAH § WIS STHEMd], SR 3N
ATFRT % SoclEd FI IR FRAT S ehal €, S THS o ER
H weql yfger fromr 2

2. (i) w=gfa feaat Imerd foe feqet e fey ‘ srgaiver’
e ¥ o T R

o dfedl o werm @ wfg 4 #E ® 9 W ugs a6
Ui 31O B9 % TE g1 56 Tl 4 R SR A 9 o8 "
Tfie B off fred | o 9w SR e e W OH e
Bl ®fg & Fed & ad 98 ? fF 99, S w oo ¥ wEei
THgEl € s SEA |eft enfdier weqel W @R € erwEmEn

(i) Teqd Wil EEN wea-gEe fRrd, Wm-2 o ‘s’
siifer Fre o Sga 1 T} AT ok A H oW WWE o 9E
33d wd g1 Hl wd iR fau o @l wefi weon @ik Tan o
@ ww A diegr o e 9e o 33 € 8 fever
J ydfirrensr &9 9 sAfvered T 7, 36 wET % o W 3 et
foeht Wi

SR Wil § TaR iR g < U9 WSl 1 I g @
foraer arem 9 Frever 3 o7 o i fodt g st drer sk
Siiepife o1dl 1 ST SHR &M ST TR €1 aa=id T TE Wi,
g 3R Hew aleh © ek g A S A9 Wehe Y STo
A Toohl SR Mgl Wd HegE F B AT BT A IR WH
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STl oh ohH W 9N Wi e I ¥ aed el S ®1 39 feman
% G I H1 B gohl iR s A frdd @ S @1 et
el IR wieRITs STl § ot el o fod | STHg 1 STEd el
21 IR R ¥ I8 TR 8 W ¢ f anaeid | w9y ureEt
wedi-zedt & fEd 99 okt @R fdd g o] 1w e
Bl 3@ AR H R BN T e

ok g € WHAE &1 o Wiftd Haeg 71 374: sra=id 1 ’EE
Ster o erafas wegeE @

(iii) Wega il HeRfa qodie™ o ‘fama ufre’ 9@ ot
T B1 7 dfeRral o HIeAH | hfa SO A1d WAl SR o WIS
T 7 g SR S ds S WRd €| S oo o wge
o U W Ui 2@ € R ? wq § @er €M € €, fed €
TR SATIRT T F| TR hicH- TS BT §| STUHT & A -
FRX AT U WA F| T U FW Fh BY M W fTER wifSw
s H oMUt € oo Ul RO H §) e dfemdl o wieam
Y wfa $ver &1 giasel &war @ foF Sted s § S g w@ @
2 Heeh HRU UE TE el AWM 21 &g A fea of 2, €9
off T $voR SHHT I QW W F1 I: T H AR FEAT AU
wia w1 A et B wia 3 92 e % Wy wss w1 HaeH
e 2

(iv) Wgd R dfeaar ‘g fagm’ s wfaar @ Sga
21 7Te Hogeiiel il gus1 HAM =er g foet T {1 sy
¥ ga-foese @ swst o o1 wifder famor @1 safast & ae e
o Vihlehdl SR A Hodl 1 el < 2l
FHARE o q07 g8 © ¥, SHH! SAhordl auiHdia &1 Sfer 7
o B WY gU O I qE AT 9 I I U e @I s
afer ot g & w T R

FeATTS ST A ! Wi A &, IHk T H1 M T9&d
2 T B 9 e Tl e SUe U T g1 wiger § e s9
T U TR HL Foh
3. 9ar H,

T, e,
+2 fommer, e

faua . @@ &1 9ME U w0 o e Hl
e,
e e 2 T omTet €1 arg o fremera -1 &t Bet-h%
WiaEifiTar e e ST W ?1 39 9 sifeen o o HRu gER
HIS-TIA 1 Bleld ©E 8 T 21 e off Bt @1 wgfea qar
& @ W B HeH W wE T W e @ Y € fehene &t e
afaue 8 T 21 de-fHued @R <g @ (@i fre T 2l

AW e € foh ©d o eE 0 Sfud seeen #d) HeH
% TS WA IH THAA HIA HI FA R foRehe & g W
A HIHT GREH H SAEYTRA 21 39 a9 A qF B H1 T GEHH
Tl & T ) sEfae <@ i 9 e a9 21 fuse o o
ST HI FU o FRU AN AH W = T off| AIE AR
2 fop et &1 et & WA SR TS 1 S sawen Sy i
TH SER T B YA H Hoh|

gaE Higd|

f iR 07-02-2024

SAYHT AR g
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e € e, qoi faverd @ fF o1 @ik W o welt wee
TPl TE GHEE | TH U oh HiEAH § W Squeh] 0 ferrer
H 7 Y ‘foer fegm’ & 9 ® avi s = 71 R fTew
22 W H TER foue™ ¥ s wren smEifea feen Tm sd
FRT o HEd sfaty 3R fen weifaert o) 9 S 3w
FRIGhH 1 Y[eeTd &l foeme o & faenferi 3 wmwor, 3@, M
MfE yaf¥fa foranl o wa 3@ 9 9gd T8 gU 3R R formem
IRER 1 gawHmEaE o fawy et T H)

T aaeRT s
ekl
4. (i) 59 T T S TEl q9 ok SHeRT YU-JW TR TRl
g R

(ii) ‘3T FHTT o' Ih FHEA TEER I eI hi SR =
Bl IS U9 H eneAfons ryfa SR Sul wnfas
IoqTHg oAl 59 el @l wed R

(iii) S o STER AR ek Ao SR AfaE o
I Sewdl ¥ 9 21 uedR % SR g S9-Sid
YIS ! A agdl ST, 98-8 T-W2 1 &4 Bl
ST SR 3q § Tk Rood e (TSAfaEE q9S)
HTIH BT 98 THS 7993 Bl Tlishdisieh 8N, dfedh ST
TS ¥ AreRas 1 e e YR B SR o8 @ishds
frema & <afed= @

(iv) 95 Fafmrff o1 3= R-9R, T9-UR, Ie-gA H
BISHT Ffoauia 3q F-=am8 &R0 3 fan o1 I7eh 3TaR
e S Hiem-unl | sieeh g €1 it res @ s
TSl fagelt a9 &1 sTgAfa & of = &3 g8 A
oAIS] JvETad o |IY STYHE oTHg 9wl fF ' a=)
T S o S o, 9 Uie Weel 9¥ qeh SeHeren o
o= @19 o€ oheel Wi W A € o, St A
4 fagelt eF w1 afesr % e 217

(v) ATt 3 oFEeh o st ArE-ae 1 o 21 FEfd qrerdt
W & QW F REd *I 984 T q Thed BeH, THeS
e AR e 3R U & HRU SHT 1 R HeE Tl
# & Wl Ik HeeR U WS Ted &l Wesl 3R
wWes<dl W, 98 W oF, A 9 BRUA ok aer o
FHeft T o1 st @ At w1 Feq ol S faega
e, Sfaaeia iR FRe fo=eit 1 e 3§ T
o @ o foh Aot W de ® S owEn g €, 9%
IR @Rt oft O IR a9 W Y W 8| W@ W o
& Hiw fsita-ar 8 @ @S9 "o

(vi) @ahd : 2012 (A) & ¥4 (W) F SW G |

(vii) HeRd : 2020 (A) & T4 (vi) F IW IF |

(viii) FENEH TEM iRl Hia 4| IR H9 TEE F a0y
a1 R TegeH iR guiym @t o dftm ot eI
T feam auiism Sraen &1 dve gH of-WEEeHI WRd
=+ gfag ©: o fegent & fau sifer 91 gt &R
M FE FII gL FAR 7 TSI bl JUSAT i et
A=A BT SR Sk fa=m &1 AR affes ot eam el
e arft &Ml @ AR T80 TET R afcsh 9ok arEe

TARGET QUESTION BANK

F oeS-gestt 31 | HAR F SAHEH H off TSEH
R Uifyd Suigd ot qUSAl Hi SR WaH AN STEE
fre o sEer Tl &l AR 1 Yo fedie e
(ix) Gehd : 2021 (A) % U4 (vi) H IW IE |
(x) At 1 faedm s@H a2 81 w=al &1 fae i g
], 98 STh! Taw fyg o5 it @1 IE yhR wafw
o ToTT SHeRT 21 SHeh Sfted o1 Faid SUBR 81 THi
e el 1 fEE @l
5. (i) "ehd : 2016 (A) F TIA-8 (F) AT HT IW|W W |
(i) FeRd : 2012 (A) % U¥I-5 (@) H SW G |
(iii) Herd : 2014 (A) o W¥-1 (W) T W G |
(iv) Herd : 2018 (A) & T¥F-15 (i) & SW W |
(v) ‘S’ 3fve oTcHwel W ReRR SHURR SoHiih |
foraTer™ el shi o HfHes se1eH w1 foveh foran 21 feremera o firereni,
TeAr, faenfefat o1 =aaer st f=-a o1 foame™ 1 geay,
STHYHTY (TEw) i A TR T Thel hi HEE HTT T AR
A 1 FSHRR Fed W T, W A g8 TR B E S e
TS HE U1 qEE Hl TSHRR H ARY T YS! TFA F
we-He M 1 WE H IS g W e U T o1l e ok Hiw
o qF T off| That oF aTeRt B T Fd H U W@
T T * e R R Tl o wdersft #1 wpe S
& eur f wg 2@ 21 wen § 934 # e 9 A off
T T gl R g o SR ¥ 2 e i o g
F F WA IS S FI S W AR FSARR H @S G
A T TSHNS OURHL EE HI e <6 odl §; FEl G 9
g # o@d Hi THS H Wl UH, d@ wX dren, SToem
R IH F el @ R we oH W wE gE st 2l
sitel § ot a5 o ¥ g % age fou-foue aA e
g gl o Ak o fdr ST Whel o UG @ TeRd €1 T
ATIHIT I AE A @R T3k W 21 SERE o
R G IY RISt TR W@ §1 eist @ O 2w faw i @
FRU g=d ¥ fad i He@ e € R geish diF A 9 ormar
Ul S &M @ &1 hell | TG+ o1 Hiehl &l fireran| fuarsh sreress
TG e A A F R e €, P AR 3 S
W ATH T S e 22" Feh # owar wyl wpe ¥ i
S & qelt forerk T deHRR WY o W ¥ 9 9 oww &
foar 1 emeR €1 faar o @EE w oes ol off o T g
2

(vi) HeRd : 2018 (A) o WA-15 (iii) T SW IF |
6. (i) vitdeh : ek 3ETAd : YRd ¥ WA &1d 9 € T
1 f9er dei SR STl gRI B @1 R Ee | STererd-gen
o R fafaq wred e woifua gg, T slrveniemanedt o
HRO AF H U o ol Y oW STRE Sh ST S
Sl
[ W% HE&A-104
Hafta v §e-42)
(ii) vider : wfeea o1 e : Wifec QAN %1 Y0 Bl B
TH HW AN 6 Gegie Wieed & B g€ el HHihew
Tt ® gfd wa T iR T A wifa § wsfio it
Il B
[T T HE&A-97
Hafta v ge-31]
EEN
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